1) PART A General Paper

Question No. 1/ Question ID 908004 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Ve Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- -
17

16 122 95
2016- =
17 136 105
2017= [
18 151 115
2018-

7 2
19 16 126
2019-
50 177 132

What is the percentage increase (%) in per capita Net National Income during 5 years (i.e 2015-16 to 2019-20 )?

1.~ 38.94%
2. ~48.24%
3.~30.61%
4. ~42.40%

i1 21 71 arfereet § v 2015-16 9 2019-20 T 5 TH D1 3fAe & SR HRA Bl (Had AT 31T (ARG BRIS &Y H) 3R ideaiad
Frae i S (69T R ) Wi € § | qifere & fu g st & o1erR o 9 g M vl & IR &

- aa i < (@re  |wfdaaiad o udiE o @SR
@S © Ul H) O H)

2015-16 122 95

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

5 a1 (314l 2015-16 ¥ 2010-20 ) Ufceafed Faw APt 2 # fbd dfawrd (%) i€ §%°

1.~ 38.94%
2. ~48.24%
3. ~30.61%
4. ~42.40%
O 1

1

O 2
2
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O 3 (Chosen Option)
3 (Chosen Option)
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4

Question No. 2 / Question ID 908002 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Net National Income {in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2013- 122 95
16 -
2016- 2
17 136 105
20017- |, =
18 151 115
2018-

7 2

19 167 126
2019-
o 177 132

In which year the percentage (%) increase in the Net National Income over the previous year was maximum?

.2019-20
.2018-19
.2017-18

2016-17

:ﬂﬁfm%mﬁwffaﬁfzms-m%zow-zoaaisﬁﬁmﬁ%ﬁﬂqwaﬂﬁaﬂﬂﬁﬂmmmmﬂjaﬂ?m
e Wfia o (eIR wd H) 2w 1 ¥ | et # fau I sifest & sruR W e iy g v $ sw &

L R A

i aa AP < (@ |wideaied e TP o @WR
TS wud H) w=uy H)

2013-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

for g el au @t gal | Had gty ama § ufaerd () gfs siftmad o

.2019-20
.2018-19
.2017-18
. 2016-17

2 =

e

]
1
2 (Chosen Option)
2 (Chosen Option)
3

O O O O

3
4
4
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Question No. 3 / Question ID 908003 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Ve Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- =
22

16 122 95
2016- o
17 136 105
2017- ||,
13 151 115
2018-

7 3
19 167 126
2019-
>0 177 132

With reference to the year 2015-16 , the percentage growth in the population of India by the year 2019-20 is

1. ~6.2%
2 ~44%
3. ~T.1%
4. ~3.1%

=<l &1 715, cTfereT 7 a9 2015-16 § 2019-20 T 5 Y B Al b SR HRA B! Faa AP 31T (7RG RIS T4 H) 3R wireaiad
[ gt S (BSIR w0 ) &/ 1 § | difael H QU Y sfes! & suR o =i 4 1y w2l & SR 4

- aa Ty o (@re  |wfdoaied FHaa aei o @SR
TS Fud H) =0y H)

2013-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

ay 2015-16 & Y U, URd B 8 | a9 2010-20 T foha- Ul 9fG 557

1. ~0.2%
2. ~44%
3.~7.1%
4, ~3.1%
O 1
1
2 (Chosen Option)
2 (Chosen Option)
3

o O O

3
4
4

Question No. 4 / Question ID 908001 Marks: 2.00
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The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Ve Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- -
55

16 122 95
2016- =
17 136 105
2017- ||,
13 151 115
2018-

7 3
19 167 126
2019-
o 177 132

What is the average per capita Net National Income (in thousand rupees) per vear?

. 103.25

. 110.3
. 108.6

T2 s arfreT § a9 2015-16 T 2019-20 G 5 T4 &I AT & SR HRd &1 fFaa
fFae YTy o (F9R 9 ) 3RS 715 & | difde § QU sfiers! & STUR uR e [4U ¢ 0= & 3R <

1
2.114.6
3
4

- aa Ty 2 (re  |wfdeaied FHaa aei o @SR
TS w0l H) =0y H)

2013-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

wfd o ufd erfda sid Had AP 3 B9k =9d ) 187

2 =

[ S S ]

O 1
1

O 2
2

. 103.25
.114.6
.110.3
. 108.6

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

P 31 (T BRIg T H) 3R widedfaa

Question No. 5 / Question ID 908005

Marks: 2.00
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The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Ve Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- -
55

16 122 95
2016-
17 136 105
2017- ||,
13 151 115
2018-

7 3
19 16 126
2019-
o 177 132

Assuming that the per capita Net national Income grows beyond the year 2019-20 at the average annual rate of increase (%) of the period

(2015-16 to 2019-20) . what will be its value (in thousand %) at the end of the year 2020-21 ?

. 135.68
. 138.35
. 140.17
.143.34

ko =

da L

=ftel 1 715 arferer J o 2015-16 §2019-20 A 5 IY @l 3faf & SR HRd B FHad AP 3110 (@1 SIS T4 H) R widaaiad

P 91 ST (6WR U ) 2iE 11 & | Aot § fRU U oifwrst & SR W e 2y 70y § 97 &

- aa Wiy 2 (@re  |wfdeaied e adE om @SR
IS Tl H) =0 o)

2015-16 122 95

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

g8 Td gU o 9w 2019-20 & 12 ufdeafad Faw It o 1 i v 2015-16 F 2019-20 BT o7afe ST <4id aiftfe 3fs a2 (%)

SRIER Bl ©. of a9 2020-21 & 3{d B 39S A (FoR &94 H) T 82

1.135.68

2.13835

3. 14017

4, 143.34

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 6 / Question ID 908027

Marks: 2.00
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Identify the fallacy committed in the following argument:

"There must be intelligent life on other planets. No one has proven that there isn't".

. Appeal to ignorance
. False alternative

. Slippery slope

. Hasty Generalization

f=fafEa gfda & saffea aba o ugae Sifon -
R U8l IR Ml §iEAM Siia g1 a1ey| 3t d@ s+l U8 R el ax wdi ¢ [Pt el g1

N R

1. WD gied

2. 39 fddeq

3. fpgoged ea

4. Sffg=ia gHdi®R
1

1

2 (Chosen Option)

2 (Chosen Option)
3

O O O O

3
4
4

Question No. 7 / Question ID 908045 Marks: 2.00

Given below are two statements:
Statement I: University of Punjab at Lahore and University of Allahabad were established during colonial rule in India.

Statement II: The main reason of their establishment was the inereasing demand in these places for higher education including 'Oriental' as
well as modern European education.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

bJ

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 15 false

4, Statement I is false but Statement II is true
R FEfume:
DY : AR (T Yoie faxaldeer qul sargarg faxafdeerd & - YRd 4 SiTaf-aiie TeH & gRH gs ol
U 11 : 3] RITTAT T T8 PRI 54 VI TR <fiRTea 3R ye Rid e Sigd 3= R1an 31 gt 117 4|
SWRIK HY & HTaid H, =1 34U 7 fabedi § I 99 Sudd SR &1 99 HIIU:

1. YT SR 11 &1 I8l 8
2. PYT 1 AR IS TTEd &
3. BYT 1 Y8l §. Al HYF 11 71dd &
4. BYTITAA S, APTPUT I I &

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

O 3
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Question No. 8 / Question ID 908024 Marks: 2.00

The population of a village is 11000. If the number of children increase by 11% and the number of adults increase by 20%, the
population becomes 12660. Find the population of children and adults separately in the village.

1. 7000. 4000
2. 4500, 6500
3. 6000. 5000
4. 5500. 5500

il 7ifq &1 ST 11000 €1 OfS &= 1 S H 11% D1 91 Sldll 3 SR 8| &1 W= 1 20% $1 g1 8idl 8. ol SHH@
12660 B OTel & | ST TTa H T=ai 3R T0EH] 1 ST T S5l J1d STl |

. 7000. 4000
. 4500. 6500
. G000, 53000
. 5500. 5500
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

o =

N )

Question No. 9 / Question ID 908040 Marks: 2.00

Which of the following is a chemical treatment in water treatment process?

. Filtration

. Sedimentation
3. Coagulation
4. Screening

S Fe i § FEfaad 3§ @ &9-97 e I9EEE e B2

o=

1. e

2. 3HgHIg

3. Whe

4. GUGHRT (FDIFT)
1 (Chosen Option)
1 (Chosen Option)

O O O O

AR WWNN

Question No. 10 / Question ID 908007 Marks: 2.00
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Which of the following 1s a tool used for ereating and sharing online learning games?

. Mentimeter
. Padlet

. Kahoot

. Zoom

e ST Wal & o 3R TeeRt ¥ A ¥ 9 $15-8 U &1 wai f6ar S o2

b e

e

LB
2. Usde
3. %gd
4.9
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 11 / Question ID 908011 Marks: 2.00

Which among the following would be the ethical 1ssues in a research study that involves participation of human subjects?

A. Lack of informed consent

B. Physical and psychological harm
C. Excessive inducements

D. Debriefing

Choose the correct answer from the options given below:

.A. B &C only
.B.C & D only
LA . C&Donly
AB.C&D

Fore ST SHeTas & T8 I WG Skil § 9HE FEfiad 1 9 ®1F 9 Afaeal St 08 9 31 87

A FiqaTid geHfd &1 3141d

B. IR 3R AAG91HS o

C. SAH® gaAy=

D. YA P IR T SFDRI &A1 (51 $iih)

i fau U fadedl § 9 9ol 3R &1 99 Hifole:

=L P O R

1. HATA. B3R C
2.$ad B, C 3RD
3. %dd A, C3IRD
4. A.B.C3RD

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
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Question No. 12 / Question ID 908032 Marks: 2.00

Identify the correct order of the term A-E given below that completes the paragraph decribing a method of operation for a keyboard.

A computer keyboard has a key matrix underneath the keys when a key is pressed. it presses a switch that completes a
This allows to flow. The location of the key pressed is . The location of the key pressed is compared to a
map to find the value for the key that has been pressed

A. Binary
B. Calculated
C. Character
D. Circuit
E. Current

Choose the correct answer from the options given below:

B e

0O
m O
W W W
N Eele
oo gl

o=

:ﬂ%ﬁnﬂq -E d% & Ual (TH) & Hg! 3I6H Bl [HIi-gd B ol Bl-als & YdIeH S1 YUK P1 qui— dR-dTel URTAT% DI R HRl &
TS PR D Bl-als H Dol (B) & A1d DI-HCH Bldl ¢ | T8 ‘DI DI G o1dl ¢ dl 594 UD a4 gadl ¢ ol Gl

T Tl T Harfed 811 T 81 <l% s B @ fafufd il 81 BaT5 715 B B Safufd $I a1 Ue
AAfE 9 $ Aidl § a1 gars 718 B &l 1= U foear o 9as |
A, SR (g 3R
B. 70T
C. PG

D. Ray @fde)
E. fagga uri

i [Eu U fddedl | 4 Jol 3R &1 904 ST

o=
W W W
0EON
[ = S

> 0o
m o m o

i

1
1

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Question No. 13 / Question ID 908014 Marks: 2.00
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Griven below are two statements:

Statement I The standard deviation of a series of repeated measurements estimates the likely size of the chance ervor in a single
measurement.

Statement II: Bias affects all the measurements the same way. pushing them in the same direction.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement [ and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

TR ey fRumuE:

%ﬂﬁl : §R-GR U 70 7191 Bt 4@l & g fage 9 o tea A & giaiie Ffe & JHIiad SeR &1 SFIHH Tl S
|

HY 11 : Jarde T AT &1 TAE a¥iE S wHIad SRaT 8, 3% U ©f 152 H ydbadr g

SWRIK HY & aid H, 1 34U 7 fdeedi # I 99 Sugad TR B 90 HIforg:

1. YT 3R 11 &1 I8 &
2. FYT 1 AR IS TTEd &
3. BYT 1 el 8. A HYF 11 7T1dd &
4. DY 1 7T0d 8, Bfte Y 11 981 &

1 (Chosen Option)
1 (Chosen Option)

o O O O

A DA WOW NN

Question No. 14 / Question ID 908026 Marks: 2.00
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In the light of 'Causation’ which of the following 1s incorrect?

A. Qualities of cause are accidental antecedents

B. The cause of the cause is not the cause.

C. The co-effects of a cause are themselves causally related

D. Eternal substance like space are not unconditional antecedents.

Choose the correct answer from the options given below:

A &D only
.B & C only
. Conly

.B & D only

PR-BHRUC & FEH 1 FEfaied ¥ S $H-91 YT a8

A. 75 R & 0 AEfE gdaT B

B. BRI & HRUL. RO 5! 5

C. BRI & Hg-UUd W 3H19Y § H1-SRUI & TG4 U 5S 6ld ¢!
D. 3faves S mRad gerd S<1d Joqd el ¢

i fEu U fddhedl | 1 Jol IR &1 904 I

) =

o Laa

1.PATA&D
2. $PaAB&C
3, $Had C

4, PdAB&D

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 15 / Question ID 908039 Marks: 2.00

Carbon monoxide (CQO). an air pollutant when inhaled readily binds with the hemoglobin in the blood stream to form a life threatering
compound known as

. Hemoglobous

. Carbo hemoglobin

3. Carbon mono hemoglobin
4. Carboxy hemoglobin

BIE O HFHISS (CO) TP TG SN 6. ol LT & H1Y ofd TRR & 3aR of1dl § af e URT 8 39T gHralaH & Y i
fEreTey Gifa- & 70 UTd® U Ui &l HH10 Sedl 6, o ST odl & -

2 =

1. ey

2. Praiearda

3. PIa- A1 fgaraifa
4, Taied! Brrde

O 1
1

O 2
2

O 3 (Chosen Option)
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3 (Chosen Option)

O 4
4

Question No. 16 / Question ID 908018

Which of the following are true in the case of audience for analog media? They are:

A Personally addressable
B. Active campaigners

C. large

D. Heterogeneous

E. Anonymous

Choose the correct answer from the options given below:

A B.Conly
.B.C.D only
.A.B.E only
.C.D. E only

wATEn Hitsar & Sianr s gEd § FEfif@d f @ ea-a ggi g d 6 -

A, AfGITT 9 I Ha=g
B. 9f%y affiamamdr

c. g1 ey

D. fauy

E. 3FH

= fEu U fddhedl | 1 Jol IR &1 904 S

L R B R

1. HAAA. B AR C
2. %$4Gd B, C 3R D
3. Hdd A. B 3IRE
4.%ddC, D 3RE

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 17 / Question ID 908041

Marks: 2.00
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In the beginning of the 20t century in 1902, there were important engineering colleges at

A. Roorkee

B. Madras

C. Kanpur

D. Sibpur (Bengal)
E. Poona

Choose the correct answer from the options given below:

1. A B.D only
2.A.B.D &E only
.A.B.C & E only
4.D only

200 I & URY T 1902 § Ae@yul Sfarar s &gt 42
A TSP
B. H&N
C. HHEAR
D. FagR (F1T)
E. 4l
= feu U fadedl § § Tl IR &1 999 I

L¥F¥)

1. BT A. B IR D
2. %dd A.B.D ARE
3. %dd A B, C 3R E
4. ad D

1 (Chosen Option)
1 (Chosen Option)

o O O O

AN W NN

Question No. 18 / Question ID 908017

From the view point communicators language and other symbolic systems are

1. Inactive tools
2. Economic targets
3. Social targets
4. Cultural fantasies

IOYD| & D0 T HINT 3R 3 Ui d Yunfe’ o

1. FfhT Igam

2. 3f1fdfe qe

3. FHIieTes A

4, FiPIddH TR Hedl

W NN ==

Marks: 2.00
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3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 19 / Question ID 908030 Marks: 2.00

'Sound is eternal because it is produced’ refers to which of the following Hetvabhasa?

. Badhita

. Virruddha

. Asiddha

. Savyabhicara

71+ YMRad & FITP U8 I~ @] Widl & - T8 Sy =1 J ¥ 59 Sy &l Yavd ol 82

e Lo ko =

1. g1fed
2. fass
3. 3
4. GHER

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 20 / Question ID 908042 Marks: 2.00

Given below are two statements:

Statement I: The NEP2020 recommends the establishment of an academic bank of credit to facilitate the transfer of credits between the
mstitutions.

Statement IT:One of the objectives of NEP2020 is to inerease the number of multidiseiplinary institutions in the country.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement IT is true
RIPEfume:
PYAT : g 101 Aifd (TN 2020 § TR & §F BRETH & R0 B il & [AU SbSiHD d 3 thige &I RIGH Bl
e &1 18 81
HYF 11 : TgHI 2020 Bl Iexdl § 9 UF, 32 ¥ aglawas dwrsi @ den 1§ afE a1 8|
SWRIG HY & HTdid H, i [4U 70 fdbedi H I 99 IUgad IR &1 99 HIIC:

1. YT AR IS TET &
2. HYF 1 AR 11 TTad §
3. Y1 gel 6. fe T ey n Tad €
4. HYT 1T 8, AT YT I Tel &

O 1 (Chosen Option)
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1 (Chosen Option)
O 2

2
O 3

3
O 4

4

Question No. 21 / Question ID 908016

If information flows from the media to the opinion leaders and from them to the target andience, the process is known as

. One-step-flow

. Two-step-flow

. Step-by-step flow
. Multi- step flow

e Y BT yare ST F it woiar aw SR iR 39 i Sianmr 9w g1 8, T 9% Hiea s ¢-

b=

da L

1. Udh =RUT Udlg
:ﬁgwm
3. pIHP U] HUdleg
4. §g 90 Y418

NN ==

3 (Chosen Option)
3 (Chosen Option)
4
4

O O O O

Marks: 2.00

Question No. 22 / Question ID 908015

Marks: 2.00
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A researcher obtains the following p-values for sample correlation coefficients of different samples. Which of these can be considered
significant at 1% level of significance?

A. 0.004
B.0.99
C. 0,995
D. 0.001
E. 01

Choose the correct answer from the options given below:

1.B & C only
2.B.D & E only
3.A&D only
4.B,C & E only

U SHuHl = wiaex & ufagsl geddy quie! & fou FefaRed p-am ura oxar g | FEfaRed O 9 9 19 ardear
TR R e A1 o gl 57

AL 0,004
B. 0.99
C.0.995
D. 0.001
E. 01

i fau U fawedi § 9§ 91 3R &1 99 HIfole:

1. Pda B 3R C
2. $dAB.D ARE
3. HaT A AR D
4. PadAB, C 3IRE
O 1
k
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 23 / Question ID 908036 Marks: 2.00

g fafgear dasht siftrama (@dish) o1 afuaey $ef Ra g2

Secretariate of convention on Biodiversity (CBD) 1s situated in

. Geneva, Switzerland

. New York, United States
. London. England

. Montreal. Canada

b=

e L

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

1. ST, f&esravs
2. AT, SHHRDT
3. T, 3QUS

4. Hifega. STSI

Question No. 24 / Question ID 908028

Marks: 2.00
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Match List I with List IT

LIST I (Fallacies) LIST IT (Description)

. [Bandwagon Argument| 1. | Arguer misrepresents an opponent's position.

. |Strawman Argument | II. |Arguer assumes the point to be proven.
[R.ed herring Argument] IT1. |Arguer appeals to reader’s or listener's desire to be accepted or valued

wl el I==] =3

. [Begging the question | IV. |Arguer tries to distract the attention of the audience by raising irrelevant 1ssus

Choose the correct answer from the options given below:

A-IL B-IV. C-I. D-IT1
. A-IV, B-1I. C-III. D-I
AL B-1L C-IV. D-IT
A-I B-II. C-II. D-IV

%ﬁﬂl%ﬁ%%ﬁlﬂﬁﬁﬁﬂfﬁﬁq

l._JI—'-

:L..L.u

ﬂ?ﬁl(ﬂﬁﬂ) et 1 (R

[dsa gieg | 1 [gied o arar 9yl @1 Saieyid i TTed Wigd $dl o

B. [emHgie | 1 [gfad ¢ aral ¥ fT oI dicll o1 ol A9 @R geidl o

C. ReeRaT giad | 111 [gfck o dicil Urad 1 $iidl @l 360 & HeddiH 6i- d1 WibR g i+ &l HIDial Bl Hldhud ddl g

D. [siig &y | Iv. [giad o are gidra &1 29 g2 o 1ol s U= &l 381l §

e 74U 7Y fadedl § O Ug1 3R &1 99 Hivlg :

1. A-IT. B-IV. C-1. D-ITI
2. A-IV. B-IIL. C-III. D-I
3. A-IIL B-L C-IV. D-TI
4, A-I. B-TII, C-I1. D-IV
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 25 / Question ID 908037

Which one of the following is included while estimating Air Quality Index (AQI)?

N,0 Nitrous oxide
NO, Nitrogen dioxide
N,0j3 Dinitrogen trioxide

2 =

o T

N, 05 Dinitrogen pentoxide

Ay UG YABIS (URI3TS) B AT0HT $d Ty FHEfaRad 3 9 fages! i foar s g2

\N,O (A5 3HaIgs)
NO, (IESIo- SIgHIHES)
3. N,0; (STEECH TR3HITHES)
4.N,05 (SIEAECINH UCIaHZS)
O 1 (Chosen Option)

1 (Chosen Option)

O 2
2

[y

1

Marks: 2.00
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Question No. 26 / Question ID 908008 Marks: 2.00

What are the various salient features of formative evaluation?

A Tt provides feed back to the teachers to use teaching strategies according to the needs of the learners
B. It helps learners to actively and continuously engage in learning

C. It helps in enhancing the learning abilities of the learner

D. It contributes to the overall grading and certification of the learner

E. It 'sums-up' how much a student has learnt over a period of time.

Choose the correct answer from the options given below:

.B.D & E only
.C & E only
A B & C only
.A & D only

i geaied o1 fafdy v faXivand @1 g2

A. T Rienfial &t sraaedars & o9 R1em uEod] & T & g Sieae| &1 9fagfP veH SRl gl
B. Ug frenfidai o1 iférm # 9fthg ok 9ad =9 € 9o & 8 Yermar il gl

C. gg et & S gerdl &1 9@ & Heg drdi ol

D. g frenfial & w99 Us 3R yHUE & geH SR gl

E. U5 el &1 us Sramafy 4 U SifeTd & 9R Ud Sedl g |

= feu U fadedl § U Tl TR &1 904 i

o=

e L

1. $dd B, D 3R E
2.%ad C IRE
3. PAdA. B 3R C
4. FAAAMRD

1 (Chosen Option)
1 (Chosen Option)

O O O O

AP WOW NN

Question No. 27 / Question ID 908010 Marks: 2.00
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Match List I with List II Eﬁﬁ 1% 91y ﬂﬁ 11 &1 3T &l GW.

LIST I (Three Approaches of LIST IT (Disciplinary aﬁ 1 (ﬁ]&ﬂ F 99 TUNTH

=i 11 (FaTe STaTe)

Education) aspects) A oo oiea

1 [grEn. gewifEr

. |Teacher- centred 1. |Shared, Participatory
B. [l sz

1L

HRITUT

A
B. |[Learner- centred II. lmposed L
C. |Learning -centred I11. |Self-controlled C. |31 Plxd

I

EiGEECIER

Choose the correct answer from the options given below: EiE] ﬁT{ i) fomedl § 4 el 3 &1 944 ﬁﬁ‘m :

AL B-I1. C-I 1. A-ITL. B-1II. C-I
A-I. B-II. C-IIT 2. A-I. B-II. C-III
CA-IL B-LL C-III 3. AL B-1. C-III
A-IL B-III. C-I 4. A-TL. B-III. C-I

1 (Chosen Option)
1 (Chosen Option)

[ S R

O O O O
AR WOW NN

Question No. 28 / Question ID 908009

Given below are two statements:
Statement I: A learner's cultural background has no impact on his/her learning experience,
Statement IT: Gender is not a strong predictor of academic achievement.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement [ is true but Statement II is false

4. Statement I is false but Statement II is true

TR FuE T

DY : ﬁr&ﬂ%ﬂﬁﬂ@ﬁw%@ﬁaﬁmﬂmwﬁ%u%ﬁm%
PY 11 : Aol W&Ue ST o vad FuRe T8t g1

SWRIK PY & Haid H, 144U 70 f[dbedi H I Ga9 IU0ad IR B =99 HIIC:

1. YT AR IS T8l &
2. HYF 1 R 11 S TTad ©
3. FYTIgel 6. feT sy n Tad €
4. BYF 17TAd &, b YT 11 Tel ©

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 29 / Question ID 908025

Marks: 2.00
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There are fifteen successive percentage discounts given in a series of 2%. 4%, 6%. 8% on an item. After how many such
percentage discounts in succession will the effective discount be higher than 50% ?

. Tth

. 10th

. 8th

. 6th

fopfl 71 TR 2%, 4%. 6%. 8% @1 @ I Uge SR W=id B¢ & Sl o | U St samTd Uia=id gl & u<ard gy
B 50% T 34U gl S

o =

e LA

.74l
104l
.sdl
.64l
O 1

k

2 (Chosen Option)
2 (Chosen Option)

3

P

o O O

3
4
4

Question No. 30 / Question ID 908033 Marks: 2.00

Given below are two statements:
Statement I: Internet is commonly used service on the World Wide Web.
Statement IT: HTTP is the protocol that web browsers and web servers use to communicate with each other over the Internet.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement [ is true but Statement IT is false

4, Statement I 1s false but Statement II is true
TR FE
PYF : Sex-c, Afg® 99 (AEeaI5s d) W IR 9 ¥ SIHT gHar Yar g
YA 11 : HTTP G WA & ford dd HTSoR 3R 99 Fov, Sex-ie R U gux 3 SU0 - & o1g ugi &xd g |
IWRIGd DY P il H, i (40 U [dhedi & J el IR Pl 94 DIfIE:

1. YT AR 1S T ©

2. HYF MR I GHT ST B

3. PUTITT R, AP PY I 3T ©
4. FYF IR, WA PUT 1 9a &

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
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Question No. 31 / Question ID 908031 Marks: 2.00

A smart home application that automates the controlling of lighting, temperature, entertainment system and appliances is an example of

1. Evolutionary computing

2. Nature- inspired computing
3. Bio- inspired computing

4, Ubiguitous computing

U% W1 811 U e off a1, a1uehd, H-RoH JuIe 3R 3uEvl & Wa: Frifia o &, Fefafag o1 3eew e:

1I - [ -
2. 9R SHUES HIgfeT

' L & o
3. 91 SHUES HEGfCT]
4.

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 32 / Question ID 908023 Marks: 2.00

Salary of a person decreases by 10% every year and his bonus increases by 24% every year. If his salary and bonuses at the end of 2020
were T 8000 and 2500 respectively. find the difference between his total earnings in March. 2020 and March 2022,

1. 7 165, increase
2.7 176, increase
3. % 180, decrease
4, ¥ 176, decrease

Tt aafa &1 303 Ud® gy 10% Hedl 8 3R 39S -9 TS a8 24% d¢dl &1 afS A= 2020 F 3id § I9P1 3o 3R a9
B F. 8000 3R F. 2500 & & A, 2020 3R A 2022 T 3US! Tdl 3410 & & SfaR Jid Hiforg |

1. 165, 9fG

2. ¥. 176, 1S
3. 3. 180, Bl

4,3, 176, BHI

NN ==

3 (Chosen Option)
3 (Chosen Option)
4
4

o O O O

Question No. 33 / Question ID 908029 Marks: 2.00
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When inference 1s based not on Causation but on Uniformity of co-existence as in the case of inferring cloven hoots of an ammal by it's
horns: it is called

1. Purvavat Anumnana
2. Segavat Anumana
3. Samanyatodrsta

4, Paksadharmats

@ HEH SH-HRUT Hee TR HYUIRG T61 61d] dich Te-HKid D] UhEgdl R ARG BIal 5. ol Rl & S1UR &R (& ug &
10l GRI &7 AT @, O 59 F $5d 6 -

1. gdad S

2. QNad A

3. YRS

4. Ggfemial

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 34 / Question ID 908021 Marks: 2.00

What number would replace question mark (?) in the series given below? EIEKEIF Qf@fﬂ 2| (?) T & ®IM | P-4 TE o

3,8,17,32, 57, 7. 177 3.8,17,32,57,2, 177
1. 100 1. 100
2.89 2. 89
3.85 3.95
4. 106 4. 106

o O O 0O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 35 / Question ID 908020 Marks: 2.00
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THRIAS GG JHC: o0ad Hd o

Negative communicators usually express A TS IIT@
A. Verbal softness B. H=[dI&
B. Optimism G ﬁT[QTIEF:{
C. Pessimism D. 3Ty
D. Resentment E. 3ifawarg
E. Distrust

ﬁ%ﬁqwﬁwﬁﬁ@aﬁmaﬂwﬁﬁm

Choose the correct answer from the options given below

1 A B il 1.%ad A, B 3R C
o e $aq B. C AR
2.B. C.D only 2. B.C 3D
3.C.D.E only 3.%ad C, D 3ARE
4.A.B.E only 4. PddA. B 3IRE
O 1

]
O 2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 36 / Question ID 908012 Marks: 2.00

Which aspect of the researcher may cause psychosocial effect in the participant of a study?

1
)
3. Sex
4. Attitude

aﬁﬂmﬁwﬁqmﬂﬁqwaﬁmaﬁuﬁrmﬁﬁq?wgwﬁmw%?

WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 37 / Question ID 908022 Marks: 2.00
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If in a certain code 'Generalization' 1z written as 52627134819406 ., how the word 'Oreganos’ be written in that code?

. 07521680
07251608
07251806
. 72085106
gfe fodt P HM T 'Generalization' & 52627134819406 & =9 H [orar el % T 3T DC HHI pa) 'Oreganos’ ¥leg 1 HY g

e

o=

e

. 07521680
. 07251608
. 07251806
. 72085106
1
1

@)
O 2
2
O
@)

P L S

3 (Chosen Option)
3 (Chosen Option)
4
4

Question No. 38 / Question ID 908043 Marks: 2.00

"We become builders by building and we become just by doing what is just” In the light of this statement what can not be asserted?

1. Man is a virtuous being

2. Virtues are like skill

3. Skills are acquired by performing relevant activity
4. Virtue 18 a mechanical and non- ethical skill.

==Bnﬁﬂfmaﬂ§r%ﬁﬂfuma—cﬁaﬂﬁ%aﬁﬁﬁmm@ﬁamﬁaﬁmﬁ@rwm%l“ﬁaﬁmaianfﬂaiﬁwaﬁaimaﬂ'é’r
Sl ol GhdT &7

1. TS0 U Tt il B

2. 701 BN & GAE 5

3. PN WD [oareary R sivld U oird & |
4. 701 U6 TiH® 3R A0S DI 6

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 39 / Question ID 908044 Marks: 2.00
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In the light of Buddhist system of education student was expected to follow Das Sikha Padant' Which of the following dose not represent
the code of conduct:-

A. To avoid food at add times
B. To avoid untrue speech

C. To relish music and dance
D. To avoid stealing

E. To accept gifts in charity

Choose the correct answer from the options given below:

1.A&B
2B&C
J.C&D
4. C&E

aﬁafi{%&nwnﬁﬁai e o faendf 9 a9 fagwr gei= &1 ura &3 o e &1 715 of | FEfefaa § @ o1 e diear o1 8l

A. 3T HiSH Tl HAT

B. 38 78l diTl

C. Ttd 3R I &1 g o1
D. 9R1 Fgl B

E. GF ¥ SUER WIHR &A1

+id fau 71U fadedl § 9 9l 3R &1 99 Hifole:

1.A3RB
2.B3IRC
3.C3RD
4.C3IRE

1 (Chosen Option)
1 (Chosen Option)

O O O O
AP WOWDNN

Question No. 40 / Question ID 908006 Marks: 2.00
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Which of the following are not the characteristics of teacher- centered methods of teaching?

A Students are passive learners

B. Teachers act as facilitator for learning

C. Teacher directs learning activities

D. Learning is based on collaboration between students
E. Learning is based on student interest

Choose the correct answer from the options given below:

A . C&Donly
.B & E only
.B.D & E only
4. A& Conly

FrefeiEd o oH-i fasivard srearge diad e fafd ot fagmen =8l 82

A. faemff ffSpg aiftrmedf g1a 81

B. U HEATH gd UGl & &9 H &1 Hd g
C. 3T S iafafddl B SR exa gl

D. 3fferm faenfiai & o= egimers snutid uidar gl
E. 3iferms faemdf siftrefy snerfia gan g1

i feu e fddedl | ¥ Yol 3R &1 904 S

LS e

1. AT A. C 3R D
2. $AAB ARE
3. $ddB.D 3RE
4. FATA AR C
O 1
]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 41 / Question ID 908038 Marks: 2.00

FrRR & @ P TR fieTsw 79 i) &2

Which among the following are Natural Green House Gases (GHGs)? A.CO, (@] — STEaiE 59)

A, CO; (Carbon dioxide) B. H,O (Wic] di™)
B. H,O (Water vapor) C.1CH; GiPE)
C. CH, (Metl

. O3 (Ozone E CFC
E. CFC (Chlorofluorocarbomn)

Choose the correct answer from the options given below: RELLRE HA Wl ol :

1.A.B.C.Donly 1.$ITA.B.C.D
2.A.C.D.E only 2. Bae A, C.D.E
3.B.C.D.E only 3.%ddB.C.D.E
4.A.B.C.Eonly 4. HAUA.B.C.E

O 1

]
©)
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O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 42 / Question ID 908013 Marks: 2.00

Given below are two statements:
Statement I: In a ratio scale, zero point is arbitrary
Statement II: The nominal scale allows ordering/ranking of data

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I 1s false but Statement IT 1s true
%ﬁmmﬁ:ﬁ [Tgad=s glaig
DY : U YA |
P 11 - AT AT B el @1 wH FulRor Iw FHuRo i o gsar g |
SWRIK HYUA & HTaid H, =14 34U 70 fdbedi H I 99 SUgdd TR B 99 HIuIu:

1. Y1 3R 11 &1 98l 8
2. HYF 1 R 11 gH1 Tad &
3. BYT 1 el 8. A HY 11 71dd &
4. BYTITAA 8. APTPUT I IS &

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 43 / Question ID 908035 Marks: 2.00
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Given below are two statements:

Statement I: (1011101), =(135)g
Statement II: (71)g = (111001),

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I 1s false but Statement IT 1s true

TR P RTIUE:
PYTI: (1011101), = (135)g

DY : (71)g = (111001),
SIS Y & 3aiiep |, 1< U MU faeedi # 4 9ad Iugad STk &I 98 ST

1. HYF I AR I AT TET &
2. HYF 1 R 11 gH AT &
3. PYTITE 8. AfFT FYF n Tad ©
4. HYF 170 8, dfed FUA 1 Fel &

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 44 / Question ID 908034

Marks: 2.00
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Which of the following statements A-C are correct about a Hard-Disk Drive (HDD) used as a storage device in computer?

A It has no moving parts
B. It is non-volatile
C. It uses magnetic properties to store data

Choose the correct answer from the options given below:

A & B only
A& Conly
B & C only
AB&C

f=fEd FuAT A-c B U 3 3 SRl ¥ Rk fSasy & w4 # ygad 516 (o3 gigd (UIss)) & ar 8 9l 82

A. gﬂﬁﬁw%wqﬁﬁqﬁqﬁaﬁ
B. U8 TH-aldegd gld 8
C. U8 sliPs] & USRU & (070 a9 UM &1 WIFT H=al ol

= fEu U fddhedl | 1 Yol IR &1 904 I

Rdem

ol

1. Fad A AR B
2. FadAARC
3. %aaB 3R C
4 A.BIRC

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 45 / Question ID 908019

Marks: 2.00
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Given below are two statements:
Statement I: The centralised control of signs and symbols of mediated communication may affect plurality of opinions on the Internet.
Statement IT: The global corporate owners of Internet companies aim only at profits, not the existence of pluriverse.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is true but Statement I is false

4. Statement I 1s false but Statement IT is true

SIEEAE ARl

DY 1 : Adled HUYUI & Habdll SR Tdl] D] dsidd HUAU Se-1e IR Sl & agadl Pl UHIad B gbdl o |

DY 11 : Se3C HUHE! & diRad SRUNE AAD] 51 3589 Had Ay HHHE SIdl 6. A [P ggadl SR od (QRas) BT Jifkid
GEIESSEI

SWRIK HY & {Taie H, =1 34U 70 fgwedi § 9 981 SR &1 984 DI

1L FYFISR IS 99§

2. PYT I R 11 T ST &

3. FUTITT E. AP HYT 11 T ©
4. YT e, Wb HUA I IA §

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 46 / Question ID 908046 Marks: 2.00
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water info rivers and streams have reduced the surface water resources.

India will become water-scarce country if the availability of water per person per annum falls below

~ 1 million litre

~ 1.5 million litre

~ 1.2 million litre

~ 100000 litre

IR &1 ufed 3R A W=l & 3w difow:

YRd U 1-5Td SR Fag! ofd (Afedr, Taurrsi, Sial, sreyfial iR Semsmh) &1 A Rufd &1 $8d gU, o1 40 a8 § T
IC-S1HTd aTel 81 & Febdll g

ufd afdd wia a9 1486 THTER (~ 1.5 Hfeg= diex) &1 9 &1 SUaeiar & Y, YRd Sd-atit (3eqan & 9o & srar g1 1000 99
Hex ufs cafad ufd o @ 0 TR R F R 98 99 ©1 SAfs HHt o1 4ot F a1 S|

el I FUd Bl cRieT T T i e del odl 6| P-51Y Yo 8IS (Helseeygal) & 3iiPs Fdid o I Y-57a P STy R 4
2022 H 3 8 odl 3fdierd 7080 SISl 8 4% APHeId ol 718 © oidid 14%aﬁa{ﬁ-ﬂiﬁﬂ$wﬁmWW%|

g5 [RUfd 2017 § 3ifee SaaR ol 96 17% §15dl 1 Siid-aig gl Ul 3l gaaRur 3R HReor parEl 8 @y gail & W uele.
R[S, e, S, aierg SR SHies oY Irsdi J Ul so15dl &1 9@ &fe -1 85 o

YR H. 87% Y-l [&aTg o [eTU [HebTel offdl § 31X [a=Ivs S8d ¢ I O¥ ay WR S{ATiie Y-ofd (shNUl, 1o PT Wik 9 Bl
HaH G351 BRI & Fifee TTHRU Wi =0 3 A H €1 811 5 | g1 SR, Sl & SHIhHul 3R gl 3R sragris §
ST (39IY) Sd & [d9o 3 Tdel o Sae=l d Sl 315 ¢ |

el

=

HRA Se-3HTd dIe 390 81 S0 g ufy oafga ufa af oia &1 Sucear F=1 3 &1 81 9rdl &

1.~ 1 Efdga dter
2.~ 1.5 fafergq dtex
3.~ 1.2 fafema ditex
4. ~ 100000 THCA= Tiiex
O 1

1
O 2 (Chosen Option)

2 (Chosen Option)
O 3

3
O 4

4

Question No. 47 / Question ID 908050 Marks: 2.00
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi, Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water info rivers and streams have reduced the surface water resources.

Tdentify the factors responsible for depletion of water resources.

A, High consumption of water in agricultural sector

B. High consumption of water in Commereial sector

C. Encroachment of water bodies

D. Excessive water use in domestic sector

E. Discharge of untreated waste water in rivers and streams.

Choose the correct answer from the options given below:

1.A.C.D & E only
2.A B.C&E only
3.A.B.C.D.E
4 A C&E only
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T B ufed R e ULl & IR i

YR T -9 SR Gdg] oid (radr, TauRTSf, Sial, sreyffat sk Sem=mn) St 19w f&Ufd $f 3@d §U. 3T 40 a8 § U@
- 34T aTel &¥1 &7 "l g

ua safad Uia a9 1486 THTER (~ 1.5 HftaE diex) @1 99 &1 Sya=Iar & 9y, YR Sd-a7it (e 3 940 & a1 1000 99
ez uf cofad 9fd o ¥ &H TR R o1 R U8 9d &1 s $Ht H1 9oit 5 s |

o 1 @Ud BI il 1 GOURN Bl AP §¢1 31 5| P-aid o als (Soiseygdl) & HiPs adid § b 4-7a & ferefy g 3§
2022 H 3R T d 3Mbierd 7089 SH15Ul U I 4% Ahedkd ol 718 § oididh 149faaﬁ3{i?f-ﬂ%ﬂ$mﬁa+wﬁ‘ﬁmwgl

g5 fRUfd 2017 1 i SaR M 99 17% SH15dl &1 3ifd-g1g g U1l faf=1 gaaiRur siiv Teror gl 9 @y gon 8 wReg 4.
RIS, A, o], aiaTg SR Seles oY Irsdl O Ul soh1gdl &l 9@ &9e a1 83 o

YRA H. 87% Y511 [¥ATg 9 [eTU [HebTel STl & 31 [a2Ivs Sgd ¢ I g¥ ay 2R SA1ee H-ofd (HshUl, 1l P KR 9 Bl
Y 951 HRUI ¢ A1 JAHR0 WIHe =0 9 O § 61 8id1 o | GO-l IR, SIeRil & Sfiasdu SR Aiedl ok Saurmsi §
SITEETRA (3UfRY) STd & fawsi- 3 Fdel ofd SureHi 4 Bl 315 o

I 41eH] & HH §iH @ 01U STREH] HRS| Bl AU B

A. DY & H oId i 3t gud

B. g1 &4 H oiel @1 31fde @ud

C. St o1 SHfdepHu

D. YR &7 H O BT i FInT

E. Al SR ST § s9uard sy od o fageq

-4 f42 U fadeal & ¥ Hel SR &1 99 Bifw:

Chosen Option)
Chosen Option)

—~

AR WWNN ==

Question No. 48 / Question ID 908048 Marks: 2.00




Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water info rivers and streams have reduced the surface water resources.

Assuming that the total number of ground water units assessed by CWGB in the years 2017 and 2022 were same (i.e. 7089). What is the
difference between the number of over-exploited units in 2017 and 20227
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.~213

.~216

.~ 260

.~ 354

O 1
1

O 2
2

S O R

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 49 / Question ID 908049 Marks: 2.00
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
falls in the water stregsed category. A dip below 1000 cubie meters per person, per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
uge of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi, Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Which of the following states have been found to have high number of over exploited units of ground water?

A. Rajasthan and Delhi

B. Punjab & Haryana

C. Uttar Pradesh

D. Tamil Nadu & Karnataka
E. Madhya Pradesh

Choose the correct answer from the options given below:

.A.B.C &D only
A.B. & D only
.B.C.D & E only
AB.C.DE
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FEfaReT O 9 SH-51H I Tl § Y9-9d 31 3id-algd @ Tg soigdl it e & urg 715 87

A, IR IR S
B. UwTd 3R g
C. S| USY

D. AHTATg 3R HHlcs

E. UG
= [Eu U fahedl | 1 el IR &1 904 Il

1. %@ A, B.C3RD
2. %@ A, B AR D
3.%@@B.C.D AR E
4.A.B.C.D.E

O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 50 / Question ID 908047 Marks: 2.00




Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

In the year 2022 how many units of water assessed by CGWB were found to be over-exploited?
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~ 1276
~ 1006
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1
O 2
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O 3 (Chosen Option)
3 (Chosen Option)
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Which one of the following normative ethical theories has "Net benefit from the
decision” as consideration in ethical decision making?

. Ethics of duty

. Theory of justice

. Stock holder ethics

. Utilitarianism

Fafafad Fame it e § 9 fogd 3fte Foies & e & = a 4
fofg I fae @y o S 2

R R

1. Taaa Hifa
2. = g
3. JRYRD I
4. IqgIRIdES

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 2 / Question ID 908117 ACCOUNTS

Marks: 2.00
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Match List I with List IT

LISTI LISTII
{Accounting Concepts) (Purpose/Applicability)
W Going Concern I The same accounting method used by a firm from one
" [Concept " |period to another
B. |[Consistency II. |Relate to the relative size or importance of an item or event
; ! |An inappropriate assumption for firm undergoing
C. |Cost concept I1L. N - 1
D. Materiality I'V. |The normal basis used to account for assets

Choose the correct answer from the options given below:

| B

3
4

AL BAIIIL C-IV. D-I
A-L. B-II. C-III. D-IV
A-L B-II. C-IV. D-IIT
CAAIL B-1L C-IV. D-IT

e 191 gl 11 ¥ firer Siforg
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. |ifaEan
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IV, [oiR&ufaai & o cval gd Uged 9= S14R

fofaRad faeedl 0 O 8! SR &1 999 ST -

S U

o O O O

A-IL B-IILL C-IV. D-I
.A-L B-II. C-IIL. D-IV
A-I B-II. C-IV. D-IT1
AAL B-1. C-IV. D-IT

WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 3 / Question ID 908127

ACCOUNTS

Marks: 2.00
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Arrange the steps of process costing from beginning and ending with the work in
process inventory

A. Summarize total costs to account for work-in-process inventory

B. Compute output in terms of equivalent unit

C. Compute cost per equivalent unit

D. Summarize the flow of physical units (of output)

E. Assign total cost to units completed and to units in ending work in process.

Choose the correct answer from the options given below:
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O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 4 / Question ID 908105
ACCOUNTS

Marks: 2.00
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Which of the inferventions can be used to manage the anxiety created by mergers
and acquisitions

A, Speed-up of the integration process

B. Articulate a new vision, common goals and organizational symbols
C. Employee counselling and stress management training

D. Disengage efforts such as termination ceremonies

E. Social support from spouse, friends, supervisors and coworkers

Choose the most appropriate answer from the options given below:

.A B and C only
.B. C and D only
A, Cand E only
.A B and E only

foreTa ud SRR GRI S gRiT 3 PRk 3 Fafiied & @ e ewad
@1 YU a1 o gadl 82

A, TP UlchdT Pl oS AT

B. a1 TP, YU @& AR HSd Welleb] ] G¥ Bl
C. HHAING] &7 U Ud Ufdad e UiRIeor T

D. a1 FH19 THRIE oI &1 &1 68 Bl

1 4T U faedl © 9 ey I9Yad 3R &1 994 HIod :

b=

NS

1.FdAA.B. C
2. $ddB.C.D

3. PAAA.C.E
4, BATA.B.E

1 (Chosen Option)
1 (Chosen Option)

o O O O

AP WOW NN

Question No. 5/ Question ID 908097 ECONOMICS Marks: 2.00
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Under which of the following market structures. products are differentiated and
cloge substitutes?

A. Perfect competition

B. Monopolistic competition
C. Oligopoly

D. Duopoly

E. Monopoly

Choose the correct answer from the options given below:

.A.Band C only

.B. Cand D only

. C.D and E only

A, Cand D only

frafarad o 9 i aaR S=m1el 8 gdrg [audied SR sidite RIHETs
GRS

A. g yfgegef

B. TaTieR gfaegsf
C. AANIPR

D. §UIUPR
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1. FAAA. B AR C
2.%da B, C AR D
3.%ddC. D 3IRE
4. FAAA.C 3RD

1 (Chosen Option)
1 (Chosen Option)
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Question No. 6 / Question ID 908060 MARKETING Marks: 2.00

The practice of setting a price target by the firm and then developing a product that
would allow the firm to maximize total profits at that price is called

1. Prestige pricing

2. Price lining

3. Price matching

4, Value pricing
femeft Bl gR1 e wied iR o= 39 P W DU §RT SMfidan A
U B & AT e ol i DRl &:

1. wfamT @iaa FeRo
2. Wig B P gy asEm

3. DiHd gHAA
4. T HHA-FYRO
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4 (Chosen Option)
4 (Chosen Option)

Question No. 7 / Question ID 908124 MARKETING Marks: 2.00

il 191 Y=t 11 9 fore Sifore
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fRawerRusy| IaE Fife
A [lsEprde 1 [ggd Y Ud g
B. [Edf¥miee] 1. [d1S1 Ud 3ya

C. [PeTRl fbeR | 111 [G1S1 U el

D [gmrabe [1v [feutdagd ey

fafefad fameul & 9 w8l SR &1 901 Sife
Match List T with List IT
LISTI LISTII

(Retail Store Format)] (Product assortment)

A |Discount 1. |Very narrow and deep 1. A-IL B-I. C-IIL DIV

B. |Specialty II. |Broad and shallow

C. |Categorv Killer | Il |Broad and deep

D. |[Supermarket IV |[Narrow and very deep)

) ) 2. A-L. B-IL C-II1. D-IV
Choose the correct answer from the options given below:

3. A-IV, B-1I. C-III. D-I
. A-IL B-I. C-IIL. D-IV

A-I. B-II. C-IIT. D-IV
- A-IV, B-1I. C-III. D-I
A-IL B-LL C-IV. D-ITT 4. A-II. B-L. C-IV. D-III

S T

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 8 / Question ID 908053 ENVIRONMENT Marks: 2.00
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In which of the following balance of payment accounts changes in holdings of
gold and foreign currencies by official monetary institutions are accounted for.

. Current Account

. Capital Account

. Official Reserves Account
4. Foreign Exchange Account

YITAH-He & o @Tdl 5, e Alfs SRl R @ ud foesi gersi
B wid 3G (HTRan H fu S are uRkad-! &1 dar-oal il 9l 82

L 2 =

1. 9L @l
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4. fag<h fofmg @
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4 (Chosen Option)
4 (Chosen Option)

Question No. 9 / Question ID 908135 TAX

Arrange the following advance payment of tax in ascending order (Section 207 to
section 211) of the Income Tax Act.1961.

A, Instalment of advance tax and due date

B. Liability for payment of Advance Tax

C. Payment of advance tax by the assessee on own record
D. Condition of liability to pay advance tax

E. Computation of advance tax

Choose the correct answer from the options given below:

1.A.B.C.D.E
2 BDE A
3.B.D.E.A.C
4.C.D.E.A.B

SHTDR ST & Siaia FRieRad S HR YiTdaH &1 RIS oY (YRT 207
I URT 211) H HHIS BHIToTT :

A 3T o 1 fbwa ok 3 fafy

B. YT X & WTAM 5 STl

c. iR & W@ & xaed / RS gRI S & yid
D. SATUH &R &b YA o adl &1 W

E. 3{fUH &R &l HIuHE
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Marks: 2.00
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O 1
1
02
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 10 / Question ID 908138 FINANCE Marks: 2.00
Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.
Asgertion A : Usually manufacturing companies use sale and lease back
arrangement to unlock investment in fixed assets,
Reason R : In a sale of lease back arrangement, the companies sell the assetto a
leasing company. and lease it back to enjoy the uninterrupted use of asset in their
business.
In the light of the above statements, choose the most appropriate answer from the
options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R iz not the correct explanation of A
3. Ais true but R is not false
4. A is false but R is true
9 2 Y ST U €, TF SIS (Assertion A) & $U H 110 © a1 gul
3P BRI (Reason R)S 3G H
it y=A: FHe: fafHiar Sufat fawa gd vgt 9o caawr o1 i wirt
gREgfal # U 9 are a9 &1 g &< o PR o
DR R: [dhy U ugT eyaRuisi #, syuf-af fordt ufvsufe &1 fasa gg1 84
aTell U D1 B Gl 6. SR 30 HaHr H IRIURI BT Hafy =9 wan
PR AY I8 6q H: SUUST IR d odl g |
SWRIK HY & Taid H, 14 34U T g edi § I 98 SuYdd IR &1 99
1. A SRR I He1 § $IRR. A D! U RS ®
2. ASIR R &I U8l § 3IR R, A D! Ue! ARHAT 61 ©
3.ATT AlPAR ST ®
4 AT APIRITE
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 11 / Question ID 908076 Marks: 2.00

BANKING
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YRA T T3 BS o] G- BIH Bl 62

Mutual Funds in India are regulated by:

. Unit Trust of India L qﬁ_{?ﬁm sl

. Department for Promotion of Industries and Internal trade 2. SENT 3R HTINS TEIR e AU
. The Securities and Exchange Board of India 3. YRdg Qﬁ'ﬁ[ﬁf IR fafma &

. Department of financial Services 4. Todig a1 TGy

1 (Chosen Option)
1 (Chosen Option)

O 0O o o&Hwbk=

AN W NN

ion No. 12 ion ID 7
Question No. 12 / Question ID 908075 BANKING

Which committee had recommended a comprehensive framework of reform in the
insurance sector?

. Ghosh Committes (1993)

. Sodhant Comumittee (1994)
. Malhotra Comimittee (1993)
. Kalia Committee (1994)

fept Giirfd = &ftar & © GUR 8 U oa19® =Uvd] & S¥did &1 ot

o=

SR Y

1. 919 fAfd (1993)

2. reE! JiEd (1994)

3. Heo A1 9iHfd (1993)
4, BTt IiHfd (1994)

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 13 / Question ID 908128

ECONOMICS

Marks: 2.00
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Arrange the following goods and services in the mereasing order of the underlying
income elasticity of demand.

A. Normal consumption goods
B. Necessities

C. Luxuries

D. Inferior goods

E. Services

Choose the correct answer from the options given below:
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1
1
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4 (Chosen Option)
4 (Chosen Option)
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uestion No. 14 / Question ID 908093
Q Q LAW
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Section 61 to 64 of the company act 2013 states 'Alteration proper' which includes:

A, Cancellation of the unissued shares

B. Cancellation of issued shares

C. Increase in ghare capital by issue of new share

D. Decrease of share capital by redemption of shares

E. Conversion of fully paid shares into stock and vice versa.

Choose the most appropriate answer from the options given below:

.B.C and D only
A CandE only
.C.D and E only
. A, B and C only

ST AT 2013 B URT 61 T 64 T Ifcafd sy Wqw J W@ § -

A, AT IO’ &1 3 B

B. fATifid Rl &1 3g S

c. IR &l FFigFA IR I A S

D. ORI & fare ¥ 9w ot § St

E. gUid: Wad XRI &1 €id 4 uRaa- Ud g8 [duwia

= feu U fddedl § ¥ Yad 39gdd 3R &1 999 B -

R R

1.$dd B, C.D
2. A A.C. E
3.$ddC.D.E
4. PAT A, B. C

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 15 / Question ID 908125 Marks: 2.00
LAW
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Match List I with List IT

EREL LISTII

(Schedules under the companies {iintile iy ing ihemed)

Act, 2013)
A |Schedule I I |Computation of Depreciation
B. |Schedule II II. |Code for Independent directors
C. |Schedule III III. |Memorandum of Association
D. lschedule TV v P1_'e;_3ua.ran'on of Balance sheet and statement of
profit and loss

Choose the correct answer from the options given below:

AL B-LL C-IV. D-ITT
A-IIL B-1. C-IV. D-IL

| B

3. A-IIL, B-1V, C-I, D-IT
4. A-1, B-IIL, C-1, DIV
e 11 gl 11 ¥ firer Siforg
T

Ut SR 2013 % et L

A JerEdl 1 [HIgE &1 UR&eH

B [sg=in 11 [Fc Fexrat gg HaEmEr

C. [orget I11L. (ST Ueia | _
D. |oreet v - @q.u%ﬁa§;|ﬁ&ﬁzwwgﬁwm
fafeiad famel § 4 el TR &1 999 DIfo -

1. A-II. B-1. C-IV. D-ITI

2. AL B-1. C-IV. D-IT

3. AL B-IV, C-1, D-II

4. A-L. B-III. C-I1. D-IV

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 16 / Question ID 908088 TAX
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When the mncome of a minor child 1s clubbed with the income of mother or father,
how much the deduction will be allowed to mother or father?

. Rs. 1500

. Rs. 2000

. Actual imncome clubbed with the income of mother or father, whichever is less
. No deduction

e U G0 g &1 41 &1 7ra1 41 fodn &t o § gitfera fear emar g at
[T a1 a1 &1 fa derd! Bt 3af gl

P N

1. 71500
2.3 2000
3. {11 a1 Udl @1 310 & 91y gifod aidid® Mg H ol dH 8
4. I el Tal
o1
]
0O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 17 / Question ID 908108 BANKING

In the context of banking sector. spread is defined as a function of the following :

A. Forex

B. Net Interest income
C. Rate Sensitive Assets
D. Asset Ratio

E. Leverage Ratio

Choose the correct answer from the options given below:

.Cand E only
. A and C only
.B and D only
4.B and E only
e aﬁg%ﬁﬁ@ﬁaﬁﬁaﬁﬁﬁﬁﬁﬂﬁﬁmﬁﬁwﬁqﬁwﬁﬁ
feparmar g2

A BREY

B. Fad =a1s <y

C. ox Had] uiEui
D. gREyft $urd
E. 30T U1

L B S

- fag g fawredl | 9§ el S| &1 70 S -

1.%ad C 3RE
2. FadAARC
3.%dd B AR D
4. $AAB 3RE"

O 1
1

O 2

Marks: 2.00
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2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 18 / Question ID 908116

Match List I with List IT

ENVIRONMENT

il 11 g4t 11 9 e $ifere

Marks: 2.00

Gt 1T T SO 4TI GaHidh

T 11 TR

LISTI

(A.T. Kearney Globalization Index)

LISTIT

(Variables)

[Economic Integration

L

[nternational Tourism and Travel

[Personal Integration

IL.

[nternet users

A

A1 Tehih0l

L

SARIPI ¢Red Ud ¢ad

EEIGESIDREIEE]

1.

GG

Ul I Udhihao

ITT.

EEEU R ARG

B.
C.
D

. RTeH T Tab a0

V.

g el diei o1 rEmT

Technological Integration

L.

[Foreign Direct Investment

ofalw>

Political Integration

V.

[Fatification and multilateral treaties

Choose the correct answer from the options given below:

. A-TV. B-II1. C-II. D-1
A-IIL B-I. C-II. D-IV
A-IIL B-II. C-I. D-IV
A-IV. B-I. C-IL. D-III
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3

O 4
4

| B

el

fafeiRad fasedl O I Tl 9o &1 =90 DI -

1. A-IV, B-III. C-II. D-I
2. A-IL B-L. C-IL. D-IV
3. A-IL B-II. C-L. D-IV
4. A-IV. B-1. C-II. D-II1

Question No. 19 / Question ID 908086

LAW

On attaining the age of majority, a minor's agreement

Can be ratified by him
Cannot be ratified by him
becomes void

becomes valid

L

oall ol

gt Araferes o1 SIfer 819 aTdt 35 UR &3 4 & 9yTd. 39 ATaIe §RI

T T TR

1. 3P GRI STnfd forar o gaar g
2. 39S GRI SHAfd 78! a1 o 9o di g

3. YA A g
4%?@%%!

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 20 / Question ID 908109

MARKETIN
G

Marks: 2.00
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ENVIRONMENT

LAW

HARNEET SINGH
MARKETING


Which of the following are the reasons for manufacturers and retailers to brand
their offerings?

A. Helps to gauge the level of product quality
B. Enables premium pricing

C. Contributes to corporate identity programmes
D. Informs about the source of a product

E. Develops customer loyalty.

Choose the most appropriate answer from the options given below:

1. A. B. C and E only

2.B. Cand E only

3.A.B.Cand D only

4. A.D and E only
FAATarsi ud a1 maiial & o1y 319+ U= &l 58 H & HRUI
faffeaddsma

A JIE DI UG & TR DI B0 H HgIS gidl g
B. Hifts #igd fukor § g srar 8

C. BANE YggH HdH § GeU® gidl 8

D. fodft 3e & Uid & 9=y & GE e axdl §
E. A6 DI F1 DI [gPHId Bl

1 f4u U fdedl © 9 999 IUgad IR &1 99 B :

1.$dd A. B.C.E
2. FGAB.C.E
3. %A A.B.C.D
4, 9ad A, D.E

1 (Chosen Option)
1 (Chosen Option)

o O O O

A WW NN

Question No. 21 / Question ID 908079 MARKETING

Which one of the advertising planning strategies is suitable for cars and
appliances?

. Informative strategy
. Affective strategy
. Habitual strategy
4. Satisfaction strategy

SR auT I9Hul & foru FHafafaa § 3 o= g emeE e
SUgEd §?

W k2 =

1. GIATEHS 0TI

2. HIaTHS UM

3. 3NATET (SETg3IET) O
4, AT90T UM

O 1 (Chosen Option)
1 (Chosen Option)

Marks: 2.00
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A WW NN

Question No. 22 / Question ID 908081 MARKETING

The sales step in which a salesperson learns as much as possible about a
prospective customer before making a sales call is known as

1. Approach

2. Prospecting

3. Pre-approach

4. Presentation
fdehl URITa & gd UIdl U8 & F-ad H [doadrdl gRI fora-l sii¥ie g gl
I S S o fdeed AT & SicRid STl €, 98 Pl ol 6 -

1. JUATH
2. ga&u
3. gdgur
4, Q@_iafﬁw
O 1
]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 23 / Question ID 908082
MARKETING

An attacking strategy which involves introducing new products or technologies
that rewrite the rules of competition in the market and avoid direct conflict with a
rival is known as

. Flanking

. Bypass

. Encirclement

. Guerrilla

aT SMHTHS PHIA-ITd, &l T4 IdTG! a1 UeNiieeal &1 HRY Pl § o
TR § yiceae| & a0 94: 1 9d § ayl WRaegel & 91y g covig $l
IRER EIdT 8. SY I ACI 8 :

o S

(Chosen Option)

Marks: 2.00
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4 (Chosen Option)

Question No. 24 / Question ID 908103 Marks: 2.00
HRM

Which of the following are skills and capabilities related competencies?

A, Analysis

B. Intellectual curiosity

C. Organization

D. Problem solving

E. Ownership of assignments

Choose the most appropriate answer from the options given below:

A CandD only
A B and C only
.B. Cand D only
.A D andE only

gemarelt § G8fed eiwra vd gm Fefafea i d sa a8

A fawesor

B. Sif&® fomman

C. I

D. TH-IHIYH

E. SR T80 ST

= feu U ooyl § ¥ ¥EY SUgad 3R & 99 Bl ;

R R

1.$PaTA. C.D
2.Hdd A, B, C
3.%ddB,C.D
4, Pdd A, D, E

1 (Chosen Option)
1 (Chosen Option)

o O O O
AP WOW NN

Question No. 25 / Question ID 908111 LAW Marks: 2.00
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An agent 1s personally liable fo third parties in which of the following situations?

A If an agent acts for an undisclosed Prineipal

B. Trade usage and customs makes agent personally liable
C. If an agent signs a contract in Principal's name

D. If an agent acts for the named Principal

E. If an agent works for a foreign Principal.

Choose the correct answer from the options given below:

A. B and C only

A B andE only

C.D and E only

B. C and D only

fafaRa foom uifufaat / gemsif ¥ @15 uole (sifiyeman) 3R ue & ufa
fgaTTd 9 9 guvard! gl 8?

A TS B [ (3Whe) e & faw o1d ol §

B. SJIUR- S0deR U4 Ya9d YU Toic &1 safgaTd ¥0 ¥ SR a-dl o|
C. Tfe BIS Toie Hdiadr & 98 3 Ufdel W s5eR oiai g

D. 1fe s Toie A1fed fdiaar & g & a8

E. Ofe $1s Toie [Gah e & i il axar g

bl e

i fau U fasedl § 9 Uel SR &1 99 Bifell :

1. $ITA. B3R C
2. 3ddA. B ARE
3.$ad C,D 3R E
4. %d@B, C3RD

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 26 / Question ID 908102 STATS

Marks: 2.00
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To remove 'order bias' in a questionnaire, usually researcher use which of the
tollowing :

A, Pivot questions

B. Multiple grid questions
C. Funnel technique

D. Filter questions

E. Leading questions

Choose the most appropriate answer from the options given below:

.B.E and A only
.D. E and B only
.E.B and C only
.C.D and A only

il weiTacil 9 '31TSR 910 &1 R B oq yHdl HEiddd 8 I JH=I:
[ E®T HarT Hdl 57

A PLT T
B. dgfdvas s vy

C. ararEA uiafe
D. oo Uy
E. ddbad Uy

I feu U fadedi § U Yad SUYdd 3R 6T 999 Hifig ;

bd =

N N

1.PATA.E. A
2. %dd D.E. B
3. %4 E, B, C
4, Pad C,D. A

o O O O
WWNNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 27 / Question ID 908078 ENVIRONMENT Marks: 2.00

frafafad 3= 1 oH-91 ve 9gg i & g S e

Which one group of the following countries are members of ASEAN?

. Laos. Cambodia. Brunet 1. TS, ﬁ%{” ﬁ

. Malaysia. Thailand. Taiwan 2. qé_ <, mﬁ@ E_ Ea_F
. Myanmar, Singapore. Hong Kong 3. HHIR, ﬁFTIH? RRIPHT
. Fiji. Laos. Cambodia 4. Tipoll, efg. dalfsar

S R

NN ==

3 (Chosen Option)
3 (Chosen Option)
4
4

O
O
O
O

Question No. 28 / Question ID 908061 ECONOMICS Marks: 2.00
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Empirical studies indicate that long run average cost (LAC) curve is

1. L-shaped
2. U-ghaped
3. S-ghaped
4, V-shaped

SFUAyd sreal o ST g1l § 3 e sitad ard (wa T ) o @1
APREAT -

N o
]

O O O OLpawm

2 (Chosen Option)
2 (Chosen Option)

3

3
4
4

Question No. 29 / Question ID 908129 BANKING

Sequence the following steps in the operational functioning of the Asset
reconstruction companies (as per SARFAESIT Act 2002)

A. Charge a 2 percent management fee
B. Issue security receipts to bank

C. Make payment to bank

D. Buys loans of bank at a discount

E. Carry out the recovery

Choose the correct answer from the options given below:

[

w O
i 3>
(@R RN

SESECNe
bW o

=
el

Dﬁ?ﬁﬁ[ FTHQ;HI -l (ERB N SUFTE, 2012 & HAR) & SRiGaA]
& 19 Ul S HHER ogaredd o

A 2 UI=Id Ya=HE Yo NG (@) Sl g |
B. 9% &I wiayfa wifcrar Frifea o €1

C. 4% &I YT Sl g |

D. §% & §¢ W BU W S |

E. wfaemy @) feear-ad sl §1

=g feu U fawedl § ¥ 981 3R &1 904 Sl
L.IXC.A BB
2.D.B.E.A,C
3.D.B.C.E.A
4.D.A.B.E.C
1

Marks: 2.00



Highlight

Highlight

BANKING


2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 30 / Question ID 908110 Marks: 2.00
MARKETING

SUHTERI-UER g 91y Fefi@a f 9 s 82

Which of the following are the tools for consumer promotions? o
£ P A TTSY A%

A. Price off B.R

B. Refunds C. U

C. Coupons D. Zd¢ TERRY
D. Event sponsorship E. 3IPp- gy

E. Off-invoice

i fou 7L fawedl 8 O Tad 3UYad 3R &1 999 Hifeld -

Choose the correct answer from the options given below:

.A B and C only 1. Had A, B.C
.B.C.Dand E E.WB,C,D.E
.A.D and E only 3.$dd A, D.E
.B. C and D only 4. ®ad B.C.D

O 1
1

a2 =

F L FS]

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 31 / Question ID 908084 Marks: 2.00
MARKETING

The doctrine of 'Caveat emptor’ applies in which of the following situations?

1. When goods are sold by description

2. When goods are sold by sample

3. When goods are sold under implied conditions and warranties

4. When the buyer does not intimate the purpose to the seller and depends upon
his own skill and judgement.

frafead foom uRkiRufadl a qxmell & shar Ay &1 Rigid ar] elal 82

1. 518 TqU fdavur & & Hrenm ¥ 99 o )

2. 9 o Wfcest a T gRT o et &

3. 9 aq faf-ied Udf ud arfedl & ofcdid al ol &)

4. 516 ol 30 Sl & IR fdehdl &1 Yl 7ol Sl 3R o7+ @d &
S99 Ug ol R ARk war g

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 32 / Question ID 908073 Marks: 2.00
HRM

which one of the following is the hiring related turnover cost when an employee
quits an organization?

1. Advertising

2. Interviewing

3. Training

4. Recruiter fees
O BIg HHAR] [ G716+ B Siedl ¢ dl Fgad Seel JuamEd arTd
feffEad dsm @

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 33 / Question ID 908096 Marks: 2.00

MARKETING
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According to the theory of contestable markets, vigorous competition can take
place even among few sellers if and

A. Product is differentiated

B. Demand is infinitely elastic

C. Entry info the market is absolutely free
D. There are strong entry-exit barriers

E. Exit from the market is entirely costless.

Choose the correct answer from the options given below:

. A and D only
.Band E only
. A and C only
. Cand E only

yfcraiifl areRi & Rgid & S8R, U8T d@ & 3o fadbdisii & 7e yad
gferegef 81 wed! 8. afa - 3R

A TR [audled gl g

B. A # 3w T el 8

C. SR H yax guf (:3[e® giai g

D. Hefgd W9 sty giar s

E. ST9R § 19 quid: TrTd Ied giar e

[ I B R

i fau U fasedl § 9§ Iel SR &1 99 Hifell :

1. PAAASRD
2. HaAB AR E
3. FAAASRC
4. Had C R E
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 34 / Question ID 908077 BANKING

Which one of the following is a fully owned subsidiary of the R.B.I?

. Indian Institute of Bank Management (IIBM)

. National Institute of Bank Management (NIBM)

. Indian Institute of Banking and Finance (IIBF)

. Indian Finanecial Technology and Allied Services (IFTAS)

Frafafed ¥ oF R dl.eng. & qul @i & sl ue s Swm 82

b =

= e

1. YR S Ta~H SR (3415 3115 o TH)
2. AP S YERA G (T 315 o1 TH)
3. YRdE sfd SR oy dwuE (3 3 o Uh)
4, YR o Wit 3R WeHe 9and (315 U9 of T TH)
O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

Marks: 2.00
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Question No. 35 / Question ID 908087 TAX Marks: 2.00

X was appointed on 15 July 2022 as a lecturer in an University, He was continued

on 3010 April 2023, What would be the duration of the previous year for the
assessment year 2023-24 for computation of income under the head Salary?

. 1 July 2022 to 30 April 2023

. 1 April 2022 to 31 Match 2023
. 1 April 2022 to 30 April 2023

.1 July 2022 to 31 March 2023

U fayfaee O X &1 [3His 1 Jarg 2022 B Uaddl & g UR (gad faar

IHPBI 30 YT 2023 B RIS AT 7197 TN 2023-24 P B FuiRd s qd au 1
3{afey T gl

ko =

e o

.1 O[S 2023 ¥ 30 30 2023 TH
.1 300 2022 9 31 A 2023 d6
.1 30T 2022 ¥ 30 3T 2023 dH
.1 9[@Ts 2022 F 31 AT 2023 T

= o 2 =

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 36 / Question ID 908136 Marks: 2.00
ENVIRONMENT
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Given below are two statements: One 1s labelled as Assertion A and the other 1s
labelled as Reason R -

Assertion A ; By removing barriers between national markets. trading blocks create
competition due to bigger trading area.

Reason R : Increased competition can lead to the closure of local industry and
harm domestic congumption.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R 1s correct

A1 31 Y (UL &, TP SHUHYUF (Assertion A) b 3U H A1 & df gaI
IHH BRI (Reason Ry® U H

HIHPHYTA: AP I6RI & T DI G137 BT G HIP IR FE (I3)
YD T AR & & SR Yoy 3T (Jiod) Hd gl

HRUR: §¢1 g3 Wawgsf, RIHg I & JumeH (@2 81 9M) B 3R 3@
Bl & Ud BRe] SUHNT I HuE ygaral gl

SWRIK HY & Taid H, 14 34U 7 fdeedi § 9 968 Sugdd IR &1 99
HIfoTY

AR R A TETE IR R AT Jel AT &

A JRREH TE € 3R R, A DI Yol TRAT T8l &
AT S APIR IS A ©

AT TR APIR TS B

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

= o 2 =

@)
@)

A bh OW

Question No. 37 / Question ID 908133 Marks: 2.00

MARKETING
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Arrange the following service gaps as per SERVQUAL approach in the logical
sequence.

A. The gap between service quality specifications and service delivery

B. The gap between the customer's expectations end management perception
C. The gap between perceived service and expected service

D. The gap between management perception and service quality specification
E. The gap between service delivery and external communications.

Choose the correct answer from the options given below:

1.D,A.B.E,C
2. B, D AEC
3.A,C,B,D,E
4.C,A,B,E.D

THT ama“rﬂqqqa(SEerQUAL)Wméi AR HHfiRad Har-sidrre
I dHETTd 3 E § oaateyd

A Ha1 Haefi- o fofe= ud da1 g & g9 SaRid

B. A% i U&7 Ud YU d Uy 314 (3faale) & Jed 3R
C. 34 U1 Ud 3fUfard Ja1 & Heg ST

D. Va1 Y FH Ud SaT el [uraw (a4 e & 56 siavid
E. 9a1 gY&rit Ud arel S9N & g SR

= fEu U [deedl § ¥ 9l 3tk &1 904 Sl ; |
1:DyA B, E; C
2.2B. DA E C
3.A.C.B.D.E
4. C. A B.E.D
O 1
]
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 38 / Question ID 908121
HRM

Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Motive of human behaviour in organizations) {Characteristic)
A JAchievement I. |Concern for others
B. |Control II. |Concem for self-development
C. |[Extension III. [Concern for excellence
D. |Dependency IV. |Concern for orderliness

Choose the correct answer from the options given below:

AL B-IV. C-I1L D-I
A-IV. B-III. C-II. D-1

| B

3. A-IL B-IV. C-I. D-III
4. A-IL B-IV, C-1. D-II
el 1 o1 i 11 ¥ e Siferg
=T 1 T3 § 319 SI9ER 1 3680 I 11 TR
A [3uals L [E¥RI & U WHR
B. [FFRiA0 II. [&q G & [eiU IRBR
C. R 111 |3 ¥l & (o TRIPIR
D. [FR V. [goail & et SRIOR
frrafafRed fameal & 9 ¥el SR &1 =0 Pifo ;
1. A-IIL, B-IV, C-II, D-I
2. A-IV, B-II, C-II, DI

A-IL B-IV. C-L. D-ITT
AL B-IV. C-1. D-IT

s Lad

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 39 / Question ID 908107

BANKING

Marks: 2.00
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Which are the RBI notified domestic accredited credit rating agencies?

A Brickwork ratings
B. Acvite ratings

C. CRISIL ratings

D. Standard and Poor's
E. Moody's

Choose the correct answer from the options given below:

. B and C only
.C and D only
A and C only
.C and E only

frafafad & 9 S R &t 318 gRT SfRgEAT TRy Tafdd 9 & Hefzor
AT E?

A foad e

B. T g & Fufor (fém

C. Tt 3R 3475 T AT Ud e
D. 56 Us Yo

E. g5

R B R

i fau U fasedil § 4 Iel SR &1 99 Hifeld :

1. HaaB 3R C
2.%ad C AR D
3. FAAASARC
4. ad C R E
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 40 / Question ID 908134 Marks: 2.00

LAW
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Arrange the following steps 1n a logical sequence i recourse to dishonouring a
negotiable instrument:

A. Noting

B. Compensation

C. Protesting

D. Notice of dishonour
E. Penalties

Choose the correct answer from the options given below:

w o
>N000

np YR
SR e
W W o

Il =l es Mes!

&4

uwﬁ@ﬁ@mmﬁ%aﬁw%mﬁm%ﬁﬁﬁﬁﬁmﬁmm%
@l diivd SHHH H oodRyd SIfoid ;

A, PR (I

B. G3Taull (WdPR)

C. TP R-JHUA

D. 3RAIPR ®3- Jagl iy
E. &t (31des)

i fau U fasedi § § 9l 3R &1 99 Hifolu :

LA
.D.
.D.
= 0

J—s’...l..lld'—‘
=00 g
Uh’iﬁﬁ
wmwm
o B b

osen Option)
osen Option)

:TD'

(C
(C

O O O O

1
]
2
2
3
3
4
4

Question No. 41 / Question ID 908085 LAW

A letter of acceptance sufficiently stamped and duly addressed is put into course of
transmission. There is a

Contract voidable at the option of acceptor
Contract voidable at the option of offeror
No contract at all

WValid contract

T =9 4 aitdd Td [aftiad Halfed U 710 Us wWigd uF &1 Iy gd Jol
ISR

o el el

1. Wieal & a0 IR Wide] L& 3
2. TAIaddl & av0] IR Hfdal Yol §
3. Plg Wi el §

4. U@ Ay T B

O 1
1

O 2

Marks: 2.00
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2

O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 42 / Question ID 908058 ACCOUNTS

Which of the following is not the limitation of activity based costing?

It involves various support activities in the process of making produects,

. It does not provide relevant information for decision making.

. All costs cannot be identified easily with a particular activity

. Set up cost as well as costs of running and updating the ABC system are very

high.
frafafad ¥ ¥ oH sriean snunid and-Fuio g dmr g 82

R O R

1. 8 3re A ot uftsar § fafirg gud=er s § wiiw wsae
2. I8 FufA-yfesan & e uriiiTe =1 15l UaH &dl §
3.ﬁiﬁaﬂuﬁwwmﬁmuamﬁﬁﬁﬁaﬂﬁﬁwm

4. U QOIS &1 RITYET ST o 91Y-91Y YR Ud -0l arTd
a5 oMt gt §

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 43 / Question ID 908094
ACCOUNTS

Marks: 2.00
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From the operational point of view, which are the part of Environmental Audit

A. Environment Management System Audit
B. Social Audit

C. Compliance Audit

D. Site Property Audit

E. Energy Audit

Choose the correct answer from the options given below:

1. C.D and E only
2. A CandD only
3.B.Cand D only
4. A. D and E only

UREEH S0 ¥ Yoiauiy a@rdsie & YT Hefef@d g a s a g

A TOIERUL-YERA o B0
B. TTHIGIE Sidremn

C. 3FIUIEH 3fdrafu

D. TUd YUt 3fapermn

E. Bull Sicheq

- feu e fawred & 9 UEl SR &1 904 Pifew

1.$adC,D.E
2. Pdd A, C.D
3.®%ddB,C.D
4, Pdd A, D.E

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 44 / Question ID 908118 ECONOMICS Marks: 2.00

Match List I with List IT

1 11 gl 1 9 far Sifeig
LISTI LISTII ‘
; HE 1 BRI Yl AT T 11 IR F1 ISR

(Herfindahe Index Value _ ().Iarket ']_?)‘pe? _ A0 = =

A |Fero 1. |Oligopoly with high risk of cartely JdIG L %E HANIDH
B [0- 1.000 L. [Oligopoly B. |0-1.000 11 |sreiaR

C_[1.000 - 1.800 1. [Misspolistr, competinon C. [1000 - 1.800 111 [usTier uiaegst

D. |1.800 - 10,000 IV [Extremely competitive market D. |1,800 - 10,000 v leratis nfamd aeR

Choose the correct answer from the options given below: ﬁﬁi%l Wud fdeaai O ﬂﬁl IT3 &1 94 DI U

1. A-L. B-II. C-III. D-IV 1. A-L, B-II. C-IIL. D-IV
2. A-IV. B-IL C-ILL D-I 2. ATV, B-1II. C-11. D-I
3. AL B-IL C-IILL, D-IV 3. AL B-I. C-TIL. D-IV
4. A-L. B-III. C-I1. D-IV 4. A-L. B-IIL. C-II. D-IV
O 1
1
O 2

2



Highlight

Highlight

ECONOMICS


O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 45 / Question ID 908068

1. Selection of dependent variable

2. Manipulating independent variable

3. Selection of independent variable
4, Manipulating dependent variable

STATISTICS

Experimental treatment in research design signifies which of the following ?

MY SHfteped | graifiTes fFegor (e, Fafiia J 9 feud SR ¥ gia

Pl 82

1. ST IR &1 90

2. W94 9 @I YHIfdd H=AT
3. 3904 TR D1 I

4, YT TG B FYIIT BAT

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 46 / Question ID 908131

HRM

Marks: 2.00
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As suggested by Collins, arrange the following leadership levels in the sequentially
higher order.

A. The leader is a competent manager

B. The leader is an executive

C. The leader is a highly capable individual
D. The leader is an effective leader

E. The leader is a contributing team member.

Choose the correct answer from the options given below:

m - o
WO
wilve s Bles

W1 =
e¥eNol

MO
=S

4.

D10 GR1 gAY T FAAfeiad Sga ¥Rl &1 SIarHH & 3= H H oaafeyd
Pifory

o - S . U E

A. Al T TEH® Bl €
B. Iqcd®dl SRIGRI BRI Gl §
C. @l st 39 T g e

D. gl U WHId! Sgehdl eidr ¢

E. ig@ddl <19 955 (JUF) & =9 8§ $1 H=- dial ol o
= fEu U fadhedl | 1 Yol IR &1 904 Bl :

1-B; €, DA, B

 B)

eole
i I
P> o g
WO o
[ il v i)

e Lid

O

1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

uestion No. 47 / Question ID 908066 Marks: 2.00
Q Q FINANCE

The optimal capital budget of a firm is reflected by intersection point of

. Security market line and capital market line

. Weighted average cost of capital curve and marginal cost of capital curve
. Investment opportunity curve and marginal cost of capital curve

. Weighted average cost of capital curve and investment opportunity curve.

farelt ©rl o gyan ol auc @ fiw wiass fawg g exifar omar g2

R O

1. 9frHfd SR 1 S7R Yol aeiR T

2. Joil ah 1 YIRT 39d arTd 3R Yol asb &1 T arTa
3. Fow 3faER o SR Yol &1 W= anrd

4. USTt a5 1 HTRA S{a TTd 3R a9 SawR o

O 1
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1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 48 / Question ID 908065 FINANCE Marks: 2.00

The total return for an equity stock during a year was 12.5 per cent. The rate of
inflation during that year was 3.5 per cent. The real (inflation-adjusted) return was:

. 9.26 per cent
. 16.00 per cent
. 7.65 per cent
. 8.70 per cent

TP T & SR Utel TP &1 31 wiawd 12.5 787 39 a9 GERPid 31 &3
3.5 4l aRdfd® (HeRwid-gamEifcaufand o :

o=

S V]

26 Ufa=ra
. 16.00 fa=rd
. 7.65 Yid=rd
. 8.70 wfa=rd

1 (Chosen Option)
1 (Chosen Option)

O O O oL®mmm

AP WOW NN

Question No. 49 / Question ID 908063 FINANCE Marks: 2.00

Which of the following deseribe an intervention currency :

1. The currency in which exporter choose to invoice their exports

2. The currency in which cross-border transactions are paid for and closed
3. The currency in terms of which a domestic currency is quoted

4. The vehicle currency

Jaadt ger e & 4 foud griaffagar s -

1. 98 G&I fore1 999 Fiaed] 0 gR1 [$U o dTel Faid dadt diae
IR &< B PRI 5
2. 98 gl forad HH1-uR (deRi) & YoadeRi &1 YT far =il |
3. 98 ga1 o T2 # R ger SeRa o ot g
4. YIgR dT8® Tal
o1
]
o 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Question No. 50 / Question ID 908112
LAW

If the application for information is rejected under the Right to Information Act
2005, the CPIO/SPIO is obligated which of the following to furnish the person
secking the information?

A. Power and functions of information commission

B. Reazons for such rejection

C. Obligation of public authorities

D. The particulars of the appellant authority

E. The period within which an appeal against such rejection may be preferred

Choose the correct answer from the options given below:

A Band Conly
.B. Cand D only
.A. CandE only
.B.D and E only

g g1 & SHEPR 2005 D Said Fa-1 WK D= Hat Hde" Bl SRADR

& 01 91T &. T CPIO / SPIO &1 a1 (VM RT) Wi - alel aafad & forg
fafeRad oar-a1 Ud SR @l [aHTi-d o 52

e L2 b =

A. I 3Iad B Wiaadl ud &

B. 31138 SGIHR H BT IR

C. WH-MiHIRGl % U Hao)

D. diddmdl wieeR! Jest faao

E. 3 YPR & HWIHIUN & (055 Uld B o aild 3faiy

i feu U fasedi § 9§ Hel SR 31991 Hifoe :

1. $ad A, B3R C
2.%ad B, C 3RD
3. BT A. CIRE
4. $dd B, D 3RE

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 51 / Question ID 908055
ENVIRONMENT

Marks: 2.00
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Who was of the opimion that labour was "the father of wealth” and 1t must be
included in any estimate of national wealth?

. William Far

. William Petty

. William C. Pyle
. Flamholtz

gg T fobg o o 4ffres HuRi & e 9 oI 38 iy Suf & it o
3Ta- | IHd &1 9ge?

S O R

1. faferaq BR
2. faferam Ugt
3. fafergm <t ursd
4, T Bleedl

O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 52 / Question ID 908057 ACCOUNTS Marks: 2.00
From the following information you are required to compute Return on Total
Capital employed.
Net Profit Rs. 100,000
Provision for tax Rs. 100.000
Income from Investment Rs. 10,000
Fixed Assets Rs. 450.000
Current assets Rs. 1.50,000
Interest on debenture Rs. 10,000

Reserves Rs. 100,000

1. 30%

2.50%

3.60%

4. 40%
fFrafefad a1 & smyR 9 FHaifed oo goil W= Wil &t TuHET S
T[S A 7 100,000
PR B ST % 100.000
a9 3mg 710,000
=t gfegaREr %4.50.000
1] Ul Ul 7 1.50.000
fSdeR IR =TS 7 10,000
SRIE A 7 1,00.000

1. 30%

2. 50%

3. 60%

4. 40%
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NN ==

3 (Chosen Option)
3 (Chosen Option)
4
4

O O O O

Question No. 53 / Question ID 908054 ENVIRONMENT Marks: 2.00

Regional Economie Integration is an attempt to achieve economic gains from the
free flow of trade and investment between countries. One such association is
NAFTA. NAFTA comprises of the following countries:

. USA. Canada. Mexico
. USA. Canada. Brazil
3. USA. Mexico. Brazil

4. Canada, Mexico. Panama
&1 SN TP 21 & Ted 8 aTd TUR Ud a1 & gad Jare 9
SHTfefen ATl &1 Ut - &1 U WA ¢ Sl PR $1 Uh 95 9 (UHITRIURM)
T U TS ¢ U g 719l (TH T U &1 U) § Fefafad oF 4 <% 9ieied 52

[

1. 4 UG U, SArs1. Dfegs!
2. U U, SIS S

3. 7 U9 U, HfGul, sTeia
4. HATSI, BiFgs!, gEmM

1 (Chosen Option)
1 (Chosen Option)

O O O O

AR WW NN

Question No. 54 / Question ID 908106 Marks: 2.00
BANKING
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BANKING


Which is the legal framework governing the Regional Rural Banks (RRBs)

A, Regional Rural Banks Act, 1976

B. Regional Rural Banks Act, 1966

C. Small Industries Development Bank of India. 1989
D. Banking Regulations Act. 1940

E. Indian Partnership Act. 1932

Choose the correct answer from the options given below:

. Aand D only

. B and D only

A and C only

.B and E only

g AT dT (3R SR &) & SR gq de1i-e / At Fue@ o O
G

A, gEtg g § sfefaTd, 1076

B. &g urdiur §& aufifaam, 1066

C. YR TY 3T [der de sifafgd, 1080
D. 1 gz aifefaam. 1040

E. HRdIg Eiar! AT, 1932

R R

= feu U fasedl U Tl IR &1 994 Bifoid :

1. HITASMRD
2. %ga B AR D
3. BT AR C
4. $aaB3RE

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 55 / Question ID 908083
LAW

Marks: 2.00
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'A’ sells a mobile phone to 'B'. a minor who pays for it by his cheque. 'A' endorses
the cheque to 'C' who takes it in good faith and for value. The cheque is
dishonoured on presentation. Can 'C' enforee payment of the cheque ?

. C' can enforce the payment of cheque only against 'A'

. C' can enforee the payment of cheque either against 'A' or ‘B’

. C' can enforce payment of cheque both against 'A' and 'B'

. C' can enforce the payment of cheque only against 'B’

'A' TP TIEIS A61ad B ®1 99dT § Sl SHa! YT 9@ RIS gl ‘A’
I H1C I R IEiTed B 391 & of 59 fa4T 4 5 5 U & 31 8 AR 9
P T & Y Igd Y T4 W PR [T ST § 1 °C =
I & feT0 ST (AR 1) B Hehdl o

P S R

¢ I YA & 70 Had 'A' $f 970 R JHal @

'C' A% & YTTAH & fR10 A" $1Udl 'B' &I §180 R el g
¢ AP F YA 8q A’ $R B! SH1 I 9T B bl g
'C' 9% YA & AU $ad ‘B &I §180 B Il g

O 1 (Chosen Option)

1 (Chosen Option)

P

O
O
O

AP WOW NN

Question No. 56 / Question ID 908113 Marks: 2.00
LAW
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The Competition (Amendment) Act, 2023 revamped the competition Act in which
of the following perspectives :

A, The CCI needs to be intimated if the value of merger and acquisition deal
exceeds Rs. 2000 crores

B. The overall timeline for assessment of combination has been reduced to 150
days from 210 days

C. "Exclusive selling agreements" has been replaced with "exclusive dealing
agreement”

D. Entities who are not engaged in identical or similar trade shall also be part of
an Anti-competitive Agreement under Section 3(3) of the Act

E. Anti-competitive conduct like "tie-up arrangements" "re-sale price
maintenance” and "exclusive distribution agreement" have been redefined.

Choose the correct answer from the options given below:

A. B and C only

C and E only
A.B.CandD only
ABC.DandE

Fafafad fom geut o ufomgel @=ym) sfafam 2023 7 vfamgef sfiFae o
T dRrYE fdan ur

A faag syar siftrmgu ot Uiy afe 2000 FIS TUL F fdE ©f € af O O
3iTs &1 giord 601 SH &1 sazadar il

B. HaISH & oo & MR §q 7 9657 HH 3 210 &7 9 92/ 150
feT e femm g

C. '3 [T FRR BT 3 Fiearol xR § ufaefud e man g

D. 3 YAy ot fF I9==1 3yar 99 SR & 99 A8l 6. d i sffFog
DI R 3 (3) B sfaria ufaegef G TR & ym o o |

E. T&- mmyﬁﬁq@@waﬁ? 3 fgeRU SR S wicrge
faRIelT SreRT &1 GAURYING fohar a1 §

i fau U fasedl O 9§ "ol SR &1 99 Hifell :

7 gl

1. $aTA. B 3R C
2. FaAC ARE
3. Hdd A, B. C 3R D
4. $ITA.B.C.DIARE
O 1
]
0O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 57 / Question ID 908132

BANKING

Marks: 2.00
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Starting from the earliest, sequence the steps taken to develop the money market in
India

A Introduction of Interest Rate Swaps (IRSs)

B. Introduction of Commercial Paper

C. Introduction of Ways and Means Advances (WMA) linked to bank rate
D. Introduction of Liquidity Adjustment Facility (LAF)

E. Implementation of Real Time Gross Settlement (RTGS)

Choose the correct answer from the options given below:

Ty
@O N
Onw
nwo
>
=t

3. B.D.C.A
4.B,C.D.AE
YR 1 Jal S6IR ol [doid - & AU S8/ T |9l &1 Jawyd
3feId & oH H ogafeyd ST -

A SITS &R W (35 AR UH) BT 3HRY

B. 1{UIfS® U &1 3RY

C. 5% &3 4 ¥9 d Us 1 USaiy (S&g U U) Bl SR™Y
D. [l f&dl usoiede BRufed (e T UHh) &1 SIR™

E. gd een ug Yeat=e (3R & Sff ) 61 fbaragT

i feu 77u fasedl T ¥ 981 3R &1 9894 Hifeld ; |

Unwy

e
@ W OO
opnw
P
mallvs = s

O

]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 58 / Question ID 908064 Marks: 2.00

FINANCE
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From the followings which 18 an uncommon feature of Private Equity and Venture
Capital.

[

3.

. Both invest in companies that are not able to or ready to gain capital from the

public

. Their investment ig used for financial or operating restructuring of the

invester companies

. They are set up an independent pools of capital contributed by institutions or

the high net worth individuals
Their activities are subject to few regulations

FrafaRad & 9 S ol Tiesdl Sk 3o Yoll & SR =i 32

T

3.

4,

SH1 39 Uil § (9% &d § ol Ufedt® 4 Uoll W = Siydl ofeH o
HaH el &

2. % A= &1 I9URT HaxiTa Sufal & A 3rar g SReT & wara-

& faggiare

S faa AT arelt SRSl gR1USH SREH & WA 9o gR1 35!
RIUAT g1 &

3% &1l Siqug Fadigr Fafa € 8

O 1

1

O 2

2

O 3 (Chosen Option)

3 (Chosen Option)

O 4

4

Question No. 59 / Question ID 908062 ECONOMICS

Which of the following form of market organization is the most prevalent in the
manufacturing sector?

Bt

P

Perfect competition
Monopolistic competition
Oligopoly

Duopoly

SoIR S & Fefafad § @ 19 w1 =y fafafor &7 & goffie w=fea 2

1

of e

2. TR wfaeast

3.
4.

SCIHR
SaNeR

O 1

1

O 2 (Chosen Option)

2 (Chosen Option)

O 3

3

O 4

4

Marks: 2.00

Question No. 60 / Question ID 908130

STATISTICS

Marks: 2.00
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The problem-definition process involves following steps. Arrange them in a logical
sequence.

A, Determine the unit of analysis
B. Determine the relevant variables
C. Write managerial decision statement and research objectives

D. Write research question and/or research hypothesis
E. Identify key problems

Choose the correct answer from the options given below:

(S
w0 p

M
P m

Wt
BOowg

jwlwlc: Ne!

4. L
- Ry wishar | FHafafed = afdfed fou o 81 9% afde
3 H H gaiyd Hiforu|

A. fozer &t g@rs Muffa Fer

B. URIT® =R &1 FufRa &

C. yae@ g (g fgm @ye) vd iu-sexg &l fora
D. XY U4l 3R / TN Wraeb g1 &1 feraA

E. §8& 0R131 &1 ggar &3]

i fau U fasedi § § 9l 3R &1 99 Hifolu :

m
'S
e

m w0
oMY w

> P P
WOowo

e
DOwn

1
1
2
2
3
3

4 (Chosen Option)
4 (Chosen Option)

o O O O

Question No. 61 / Question ID 908070

STATISTICS

Marks: 2.00
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A population has a mean of 200 and a standard deviation of 50. Suppose a sumple
random sample of size 100 is selected then the probability that the sample mean
will be £ 5 of the population mean is

.0.7523
. 0.6928

.0.0544

. 0.6826

fopit ST &1 AT 200 UG A faga- 50§, A Sifot f100 & @R
gIel U TR Uefass uidas! o1 9a- fhar oiar & 99 99 ufdesl & #rea
DI TSI A & = 581 31 FFIGHE &2

L e

1.0.7523

2. 0.6928

3.0.9544

4, 0.6826

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 62 / Question ID 908137

ACCOUNTS

Marks: 2.00
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Given below are two statements: One 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A ; When a partner retires, all the assets and liabilities are revalued
according to current value.

Reason R : The balance sheet should show the correct values of assets and
liabilities.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A 1s not correct but R is correct

A1 31 Y (UL &, TP SHUHYUF (Assertion A) b 3U H A1 & df gaI
IHH BRI (Reason Ry® U H

SHFUPHYTA: 79 TP HISISR Hal (g BT & 1 aelr Jed P S8R Tl
gREgiEl SR Sgdre el g d fbar | g |

HRUR: Jo-19a H gREufRl 3R s & 98t gedi @ fdar T

IRIF FYA P AP |, 71 G0 7T el & 3 999 I7gad 3aR &1 994

—

A 3R RIFTET§ IR R AT JeI AR ©

A SRR A 98T & 3IR R, A & TS AR el ©
AT AP TR IS TE R
ATE TSR AfpTR TS ®

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

oo

O
O

A wWw

Question No. 63 / Question ID 908115

TAX

Marks: 2.00
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BY 314 & U DH-TI e 52
A T RT3 7T O 381 SR S 9 31

Which of the following are correct for Agricultural Income ?

A Income from self grown grass. trees, bamboo B. @ﬁ HHA PN T 31
B. Rent and Rates derived from land C. GNR & 31:1&{3&‘1 IdIE &4 9 319
C. Income from making the produce fit for marketing D. E!:‘fﬂ g & ’J-IT'J'I_{UT%@ UGS H:ﬁf[ T 3

D. Income from land used for storing agriculture produce g WTH 8139 I 3
E. Income from farmhouse

[

Choose the correct answer from the options given below:

1.B. C and E only 1.PIAB. C.E
2.B.D and E only 2. $aAB.D.E
3.A. Cand D only 3. Bad A, C.D
4. C.D and E ounly 4, WC, D.E

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

=1 f[Su T fosedl H ¥ Uad 3Ugad 3R &1 9099 I ;

Question No. 64 / Question ID 908099 FINANCE

The assumptions of Purchasing Power Parity Theory includes:

A No costs for converting one currency to another

B. No restrictions on the movement of capital between countries

C. No restrictions on the movement of commodities between countries

D. No transaction costs for buying and selling financial security

E. No transportation costs for transporting a commodity from one country to
another.

Choose the most appropriate answer from the options given below:

.A. Band C only
.B.D and C only
.E.Aand C only
.D.Aand E only

oy i gudl Risid &1 qayRos ¥ wiid fear ol g -

A. T8 te g1 31 g8 ga1 § IRacH 334 R S Yo ol (A4 Ied)
THITAT ST 8

B. UST &1 U&-a% 9 g2k o%1 8 @ O IR $ig Uida g1 sl o

C. T3 BT UH-3% ¥ G ¥ H A TH W D15 Wi el glar g

D.ﬁ?ﬂ%ﬂﬁ@%ﬂﬁﬁﬂﬂ?%ﬂﬁ@ﬁq—aﬁwqﬁm
NI

E. el U 491 9 gHR 3% O a% & Ukaed W Ig aTd ol 3Tl 6 |

= feu U fddedl H ¥ Jad 39y 3R &1 999 Iy :

S O

1.$Pad A. B, C
2.%ddB,D.C
3. BAAE.A, C
4, $AAD.AE

O 1

Marks: 2.00
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1
O 2

2
O 3 (Chosen Option)

3 (Chosen Option)

O 4
4

Question No. 65 / Question ID 908052 ENVIRONMENT

The Directorate General of Foreign Trade (DGFT) facilitates and promotes foreign
trade in India and also implements the foreign trade policy of India. Which of the
following union ministry governs the DGFT?

. Ministry of Commerce and Industry
. Ministry of Science and Technology
. Ministry of Finance

. Ministry of External Affairs

HRd # fae el R weifees (Seited) 38 ouR & ¥ s e g
39 Uicarfed &l & Ud HRd $i [dew saraR +Hifd &t +f farfaa sxar g
SIlUEd YRd R & &9 Sy § Iyd sidre?

ko =

]

1. ATiURSY T4 FEIT A
2. fagm ud Uit darem
3, fou-ma@m

4, fagz-Hgarea

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 66 / Question ID 908092
MARKETING

Marks: 2.00
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For customers, which are the areas of ethical and social responsibility concerns?

A. Product safety

B. Fair Price

C. Fair Wages

D. TQM

E. Proper disclosures and information

Choose the correct answer from the options given below:

. C and D only
.C.D and E only
.Aand E only

. A. B and E only

Te®! & e H AP 1 geiioe WeR I TEEd 89 HH-9 82

A, TTE GRET
B. 3fdd e
C. Jed aa (TeigRh)

D. S
E. TY<d UH< I 0l Ud F1

- feu e fawred & 9 UEl SR &1 904 Pifew

R e

1. HadC ARD
2.$9AC, D IRE
3. Pad A ARE
4. PAAA. B ARE

1 (Chosen Option)
1 (Chosen Option)

o O O O

AP WOWW NN

Question No. 67 / Question ID 908122
TAX

Marks: 2.00
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Match List I with List IT

LISTI

{Consequent outcome)

(Taxation Perspective

LISTII

A |The person s liable to penalty and prosecution I |Tax Management
B. |Tax is reduced by taking advantage of loopholes of the law] II. [Tax Avoidance
C. Main aum is compliance with legal formalities III. |Tax Evasion

D.

It 15 a guide in decision making

IV.

Tax planning

Choose the correct answer from the options given below:

1. A-IL. B-IIL C-IV, D-I
2. A-IL, B-IV, C-III, D-I
I AT b
4. A-IIL B-I, C-IV, D-II
e 1 o1 gt 11 ¥ e Sifere
T 1 T I
i ufyom amaﬁﬁ'ﬁur
A. [oied 34 qUs #{R 4G & 34 gl g T e
B. [®14H &1 HHSIRA! I cllH 381D DR DH [bd] ofldl g || 11 [P UReR
C. [H3H 3589 DI Y= alsi &l SuleH el gl | L |63 3Udd
D. [og Fvig &1 H U AN 6 g | IV [@3 Tiof]
HafaRad faeedi d I 91 SR &1 98- Bifor -

A-IL B-TII. C-IV. D-I
A-IL B-IV. C-III, D-I
AL B-I1. C-L. D-IV
AL B-1. C-IV. D-IT
1

1

2

2

3 (Chosen Option)
3 (Chosen Option)

4
4

b

e L

O O O O

Question No. 68 / Question ID 908100

STATISTICS

Marks: 2.00



Highlight

STATISTICS


A box-plot 18 a graphical summary measures of data that displays

A, Mean
B.Q,

C. Median
D. Q;

E. Mode

Choose the correct answer from the options given below:

C and E only

A, Cand E only
C.D and B only
D. B and A only

1.
3.
4.
Dl AIGY-C UH Ihad (STTE) IRV & oY 31dHs| & °1d1 o71dl &
St FiveRdFRas!

A HIE
B.Q,

C. TIierepT
D. Qs

E. 9g0®

i fau U fasedl O 9 Yel SR &1 =9+ BHifel :

1.$ad C.E
2.$had A, C.E
3. %49 C,.D. B
4.%dd D, B. A
O 1

k

2 (Chosen Option)
2 (Chosen Option)

3

o O O

3
4
4

Question No. 69 / Question ID 908091 Marks: 2.00

ENVIRONMENT
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Which of the following one considered as supply factors affecting the flow of
Foreign Direct Investment (FDI):

A. Customer Access

B. Economic Priorities

C. Resource Availability

D. Avoidance of Trade Barrier
E. Logistics

Choose the most appropriate answer from the options given below:

. A and B only
.Band D only
.C and E only
A and E only

frafafea & 9 faexh vae Faw @ St 3ms) ware & wyifad $=4 ard emafd
PRP| (FeP) & ¥4 H T o1dT 87

A. JTE® Ugd (g

B.

C. T I/l

D. TOR-JY134 &1 IRER
E. @ivife®

o -

:L‘n.t_.u

1. Fad A AR B
2. %dd B AR D
3. Fad C ARE
4. FAAAIRE

O 1

1
2 (Chosen Option)
2 (Chosen Option)

3

o O O

3
4
4

Question No. 70 / Question ID 908067 Marks: 2.00

STATISTICS

In case of two variables, the estimated regression equation is ¥ = 60+5x. The total
gum of gquares is 15730 and sum of square due to error ig 1530. The estimated
regression line based on this information is a

. Poorest fit

. Moderate fit

. Good fit

. Best fit

&l =R & FRufa F vraesferd (M erd) THTyaur Gt vl ¢ = 60+5x & a7 P1
S AT 15730 B 3R 3 & BRorarl &1 4 1530 81 747 8| 39 SHSRI &
YR TR HHierd THIYHU U HGIE

P e R

1. 93 e (Faliie &1 39ga)
2. HIAYS fihe (dgd SugH)

3. 713 ftpe (uaie Iugdn)

4. 9% e (Hallte Iuge)

O 1
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1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 71 / Question ID 908139
MARKETING

Given below are two statements :

Statement I: The only purpose of logistics management is to coordinate activities
of moving products from the factory to customers.

Statement IT: Logistics management is only the responsibility of marketing
function.

In the light of the above statements choose the most appropriate answer from the
options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct.

:ﬂaamﬁmwg.@MW(A%EMD11A)$W§%’I@H%??IW
3D HRUI (Reason R)aﬁ_i?qﬁ

e L2 b2 =

SHHYAA: GUR-0F G=H &1 UHAH I5¥0 Hag! 4 AGH! Bl Wd b ol
I8 Idre e prieand & gaf<ad &l

PHRUTR: GUR-GF Yg- fGuuE &1 &1 t1HHE StiReldd g

SWRIK HY & 3HTaid H, 14 43U 7 fdeedi ¥ 9 968 IUgH IR &1 997

1. B 1 3R HUF 11 S I8 &
2. FYF 1 AR FYF 11 SH Tad &
3. BY 1 el 8. Ol HYF 11 7Tdd &
4. PYT TG . AT SUT I TS &

1 (Chosen Option)
1 (Chosen Option)

o O O O

AP WOW NN

Marks: 2.00

Question No. 72 / Question ID 908120

STATISTICS

Marks: 2.00
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Match List I with List IT

LISTI

(Non-parametric test (Counterpart of parameter test

LISTII

(Parametric test)

. |[Friedman Test

I |One-way ANOVA/

MMann-Whitnew U Test

II. [|t-test

o|a|w|=

. [Kriskal Wallis Test

II1. |Paired t-test

. |Wilcoxon signed Rank Test

IV. two-way ANOVA

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-II
2. A-IV, B-11, C-I, D-III
3. AL, B-1, C-II, D-IV
4, A-IL, B-TV, C-I1L, D-1
e 1 o1 gt 11 ¥ e Sifere
R 1 TR-UTHITeTe URI&TUT (ATRITerd URIGIUT &1 STaeIT=iT) || 11 WTeIieres URiaio]
A [tIgHT Giiam 1 |us fe2lig uHig
B. [A- e U Ti&u 1. |+ GHi&m
C. [phd - aifcg wigu 111 [giTd + odiam
D. [[qcdI |5 Ycb UIamT IV. [fle-Te=itg wdar
fAafaRad fadpedi O I Hel TR &1 9d4 DI :

1. A-L. B-III. C-IV. D-II

2. A-IV. B-II. C-I. D-III

3. A-IIL B-L. C-II. D-IV

4, A-I1. B-IV. C-I1I. D-1
1

1

2

2

3 (Chosen Option)
3 (Chosen Option)
4

4

O O O O

Question No. 73 / Question ID 908095

ECONOMICS

Marks: 2.00
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fafeiad # 9 fdl 9% &1 7T 3 9ig & B Y DRI &2

A. ORI & ST H glg
Which of the following cause demand of a product to increase?  B. SUI-UA g3l & geai Hafg
. : . C. ¥Rl & el H g
. an increase in consumer's income D. RIFTTH T3 &1 g § gt
. an increase in the prices of substitutes E. 700 9% 37 & e q@{

. an increase in the price of complements

. an inerease in the number of substitutes == fau e et B 9 Uas e SR &7 909 $IR -

. an increased taste for the commodity.

s lw MW vslile=

Choose the correct answer from the options given below:

1. A. B and C only I‘WA‘BS?NC
2. C.D and E only 2.$adC.D Sﬁ?E
3.B.D and E only 3.%adB.D IRE
4. A, B and E only 4. PAdA BIINE

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 74 / Question ID 908101 STATISTICS Marks: 2.00

In case of presence of outliers in a data set, which of the following can better
measure the central tendency ?

A Mode

B. Trimmed Mean
C. Arithmetic Mean
D. Median

E. Harmonic Mean

Choose the correct answer from the options given below:

. A and B only
.B and C only
. C and E only
.B and D only

faet mebs1 S 1 afgdidl @l fagmmar o1 fufq & Fefiea 0 9 s
B0 Ugh &1 B9 &1 3 B Idhdl o2

A 9gA®

B. fors (Yoyafya) mia
C. S{BAfUrdg T

D. Hife®T
E. SdHS 7199

i<l fau U fasedl § 9§ Ul 3R &1 90 Hifol :

da L b

1. $adA. B
2. &HGAB. C
3. %4 C.E
4. FFAB. D
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O 1
1
02
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 75 / Question ID 908098 EINANCE Marks: 2.00
Which of the following are the characteristics of the Euro Currency market?
A the euro currency market does not have geographical limits
B. the euro currency market is unregulated
C. the euro cwrrency market does not have deposit insurance
D. there are no restriction on the maximum interest payable or chargeable.
E. The euro currency market does not attract CRR and SLR restrictions.
Choose the most appropriate answer from the options given below:
1. A B and C only
2.B.E and D only
3.E.Cand A only
4.D. A and E only
TR 51 AR P s w0 fasreen &
A TR g1 STaRa! Himiferes S =& gt €
B. T3 gl a1oR fafafad gl &
C. T3 a1 SR 7 S-S e i 8] _
D. 3MUPTH 19 ¢4 Ul Y 6 IR Big Widee T8l 6/l o
E. T3 &l SR 9 AR HR U4 79 Ud AR Uiy 9F 8] 81 o
1= f4u Tt fadhedl § 9 9ad Uy dd STk BT 99 DIl -
1. $ATA. B, C
2. $dd B,E.D
3. $ATUE, C.A
4. HAUD, A E
O 1
]
02
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 76 / Question ID 908140 Marks: 2.00

LAW
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Given below are two statements:

Statement I: Certificate of incorporation is conclusive evidence that all the
requirements of the Companies Act have been complied with in respect of
registration.

Statement IT : After incorporation. if the company makes a fresh contract in terms
of the pre-incorporation contract, the liability of the promoters shall come to an
end.

In the light of the above statements, choose the correct answer from the options
given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement are false

3. Statement I is frue but Statement II 1s false
4, Statement I is false but Statement II is true

FUA 1 AT 1 wEE U Foifae ey © o gelieRn & gey § U
ffEm & Siqrid Siérd wisarsd o1 ureH g3 8l

DY 11: T & 915l SU-T g4 diaar & g 8 ue Ag didal
HA! ¢ o Haad! B oadl THIC g oI |

IRIFd YA P AAIP |, 71D S0 7T [dmedl & I el 3o &1 997 Bioig:

1. YT 1 AR 11 S T &

2. YT R 11 SHT 3T ©

3. YT E. AP YT I T ©
4. FY T . Ui FUT I TA ©

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 77 / Question ID 908059
ECONOMICS

Marks: 2.00
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Substitution effect 1s usually larger than the income effect in real world because

1. Consumes usually spends only a small proportion of income on any one
community

2. Consumer often consumes a small number of commodities

3. Consumer only spends small portion of income or consumption

4, Consumers income is relatively smaller in relation to the consumption.

dTedfde WiTd & IEd: RIS UHIG 314 UHTd i YT oI9S gidl &
TP -

1.G'qﬂ-ﬁf§1w: 3{OT ST T iR AT [T U Juaasg R &9
ol

2. SYHIGIT W JUaasd3f &7 SIeqHET B SUHRT Rl 8

3. IUHITAT 3T ST BT ST g SUUT IR T $dl g

4, JYHIFaT B M9 Afed =9 F U A € Sl B

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 78 / Question ID 908119

FINANCE

Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Technique) (Feature)
. |Pooling I. |Setting up production facilities in a number of countries

. [Financial hedge] II. [Reduction of Foreign exchange risk through leading and lagging|

. [Natural hedge |IIl |[Simultaneous borrowing and lending in two different currencies

o] Ie] [-=1 3

[Netting IV [Holding and managing of cash by the affiliates

Choose the correct answer from the options given below:

. A-L B-IV. C-II. D-III
A-IV. B-III. C-I. D-II
ATV, B-1IL C-II1. D-1
4. A-L B-II. C-III. D-IV

e 1 o1 gt 11 ¥ e Sifere

T 1 T 1T
A [gfeT @e ) L [sF® g1 | S@re giaunt wifud @A

BT ¢ U9 URdy (i) & Aregd 1 faow fafmg wifes |
B. [forfi wfeRa™r |1 | e o

d =

e s

& qua &mé &= IIL | & SeRT-37e0T o= @1 Jg1 § YH@Id SRl Ud 0T
D. Hfé&T IV, | GRiiedl gRT 9del ol UicR& Ud Ue
FFofead faeedl o O 98l SR &1 909 S :

1. A-I. B-IV. C-II, D-ITI
2. A-IV. B-III. C-1. D-IT
3. A-IV. B-IL. C-IV. D-I
4, A-L. B-IL. C-III. D-IV
1 (Chosen Option)
1 (Chosen Option)

o O O O

AP WOWW NN

Question No. 79 / Question ID 908104 Marks: 2.00

MARKETING
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Which of the following are the disadvantages of straight salary sales compensation
plan?

A. Sales volume is emphasized over profits

B. Sales representative may overstock the customer

C. Low motivational impact

D. Difficult to attract or retain top sales performers

E. Sales representatives may focus on products that require least effort to sell

Choose the most appropriate answer from the options given below:

1. C.D and E only
2. A B and C only
.B.D and E only
4. A, C and D only

Tt 9 i fawpl widex disr @1 gl Fafafad 3 3 o1 @ e

A fopt St ROy § ifte ga Garonar g

B. faml-ufaff oes! &1 sfd Goo Farg@ars

C. TUTRU JHd &Y Bidr &

D. 2 faept watsff &1 s & a1 e @ Siea gid 8

E. fampl-ufaf il 39 I@me R 99 S5 & 9ad § forgd [9%d § &F
T HA1 U

I feu U fadedi § U Yad SUYdd 3R 6T 999 Hifig ;

L5

1.$gAC.D.E
2. Pad A, B.C
3.%ddB.D.E
4. Hdd A. C,D

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 80 / Question ID 908090
TAX

"It is an art of dodging tax without actually breaking the law". This is related with:

1. Tax Management
2. Tax Avoidance

3. Tax Planning

4., Tax Evasion

" g Id J B &1 dls 51 3% 99 B U Pl 87| 7% [ud aEa 8

1. B U
2. T uRgea
3. BRI
4. Y g

O 1
1

O 2

Marks: 2.00
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2
O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 81 / Question ID 908080 Marks: 2.00
MARKETING

In which of the following segmentation criteria. the predictability of consumer
choice behaviour is the highest?

. Psychological

. Demographic

. Behavioural

. Geodemographic

fFafaRaa & O i Gt eS| § Sudiadl & 904 dedl aIdeR &t
gaATar gatie sid 82

b =

a

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 82 / Question ID 908089 Marks: 2.00
TAX

A multinational company can use which prices to create profits in low tax regimes
and loss in high tax regimes?

1. Divisional prices

2. Inter-Divisional Prices

3. Holding company prices

4, Transfer prices
U SEPII DU 19 B YorTedl § A1 3R 93 B HUMed! 8 §1 &7 8
forg SIHd BT WaR Sl 82

1. foumHTE® $Ad
2. 3R fqyToHTE® SiEd
3. FF® FuHl BEd
4, RFARU HIA
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 83 / Question ID 908072
HRM

Which one of the following values is not a part of OCTAPACE framework?

. Openness
. Extension
. Proactivity
. Autonomy

FafaRad § 9 $F 9 Je0 Sfaeiid (OCTAPACE) B1d & YN el 57

=

NS ¥

1. g
2. TR

3. ST (YaUsa)
4. T

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

ion No. 84 jon ID
Question No. 84 / Question ID 908056 ACCOUNTS

A and B are equal partners, when partnership is dissolved. their capital are Rs.
40,000 and Rs. 50,000 respectively. After all assets are sold and liabilities paid.,
there is a cash balance of Rs. 80.000. What is the amount of profit or loss on
realization?

1. 10,000 (Profit)
2.20.000 (Profit)
3. 30,000 (Profit)
4, 10.000 (Loss)
A3 B SRI6R & FI3/GR §. 56 ISR GHIE il § d 391 Yoil hH:
240,000 3R 250,000 B Fit ufvEufral & fasy ud Tgarsit & YoaH & g
280,000 I(HS XY 9T 5| o HIUT TR a1 LRI T AT 1 8T Bl 67

10,000 (ATH)
. 20,000 (TTH)
30,000 (ATH)
. 10,000 (1)

b2 =

)

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 85 / Question ID 908051 HRM

Marks: 2.00



Highlight

Highlight

HRM

ACCOUNTS

HRM


In totalitarianism, called authoritarianism. individual freedom 1s subordinated to
the power of the authority of a group or state. Which of the following is not a type
of totalitarianism?

1. Theocratic
2. Right Wing
3. Tribal

4, Conservative

gatfierarg 59 I fierare) Yt &l o1dr &, 598 safgad Sdadr
TP GHE 3UdT T & (WTHR) B 2ie & e gidt 8 Faifea g o
w%ﬁqmwﬁ%?

1. Y
2. gt
3, S
4. Ffgard]
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 86 / Question ID 908069
STATISTICS

A point estimator is said to be consistent when

1. It has smaller standard error

2. Its expected value is equal to the population parameter

3. It tend to become cloger to the population parameter as the sample size
become larger

4. It 1s based on all available information

0% f§g Vadaaxdl & a4 S7Td HH1 oid] ¢ o

1. SHH TYd (FH W HH) THS F T

2. S 3UiEd Jed (JF), TEE A0S & -6 oldl o)

3. G- -HTHR IS1 8idl ofldl &, I8 5SS A0S & $ig
(Fie) 9 &t iR ugm gl g

4, T8 Q1 UHR & 39T« SHBR] (AT UR SR 6idl &)

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 87 / Question ID 908071
HRM

Marks: 2.00
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In the process of perception. which one of the following 1s not an external factor
influencing selection of stimuli?

. Experience
. Familiarity
. Repetition
. Novelty

3(aEIE @1 Uiehdl B, TRP| & 99 Tl THIGd 3 ardl alel PRSP HEiad
R aCk e

L

3 (Chosen Option)

O 1
1
O 2
2
O
3 (Chosen Option)
O

Question No. 88 / Question ID 908123

BANKING
Match List T with List IT

LIST I (Purpose) LIST IT (Committee)

A Study all aspects of Electronic Fund Transfer I [Rashid Jilani Committee
" |(EET) © [(1992)

B. |Working group on NBFCs II. |Soduani Committee (1994)
C. |Suggest alternate methods of Lending III. Malegam Committee (1993)
D. |[Expert group on Foreign exchange markets IV. [Shere Committee (1995)

Choose the correct answer from the options given below:

. A-IIL B-I. C-IL. D-IV
A-II. B-1. C-III. D-IV

| B

3. A-. B-III. C-I1, D-IV
4, AV, B-III, C-L, D-II
I 1 o1 gt 11 ¥ e Sifere
T 1 I 1
TS BIEIG]
4 [T P QU e ) s e s o | | [ife foerd vl
" |ermEE B "~ asen
B. [05 &1 U5 4l R &1 §HE 1L [GremT 9t (1994)
C. [BUl/ YR DI d@icudaiedl IR 931d Gl 111 [9TeTTE 9T (1995)
D. [facell [95g 99k R G295 998 IV, [RR G (1995)
Frafafad foeel T 9 98t IR &1 9899 Do :
1. A-IIL B, C-II DIV
.

. A-IL B-I. C-III. D-IV
.A-L B-II C-IL. D-IV
A-IV. B-III, C-1, D-I1

:h..(_.u

Marks: 2.00



Highlight

Highlight

BANKING


NN ==

3 (Chosen Option)
3 (Chosen Option)
4
4

O O O O

Question No. 89 / Question ID 908126
ENVIRONMENT

The steps to be followed by a firm while strategizing to go international are as
follows:

A Deciding when to enter

B. Deciding which markets to enter

C. Deciding whether to go global

D. Choosing a mode of entry

E. Deciding how to enter the chosen market.

Choose the correct answer from the options given below:

b =
o W U

npmo
m O

oW
> 0O
0 g

ﬁ%aﬁq:ﬁaaﬁﬁmﬁﬁ %ﬁﬂ@ﬂﬁﬂaﬂﬁ@%ﬁﬂ?ﬁ:ﬂﬁﬂﬁw
BT BI B T 3P GRT SR [T oH aTd IRUT S ;

A. TF 39| YA (VARN) BT 8. 59D (H01g HAT
B. [ ITOIRI & 3% &A1 5, SHP1 H01G BT

C. aff¥e Jar IR TIftd g1 a1 78l gl 59T iy ST
D. Ya & TRid (FIYT) BT I1d BT

E. 1 §8 99IR § &4 Wa¥ U &. 591 (H0fa S

i
w W p O

np Mo
MmO w

oW
> 00
oW

O
1

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 90 / Question ID 908114

Marks: 2.00
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Which are the appropriate tax planning perspectives m case of shut down or
contimie decision under Income Tax Act. 19617

A, Business loss and unabsorbed depreciation can be carry forward and set off
against profit and gain.

B. The loss making company and profit making company may merge to avail
the tax benefit

C. Tax benefit of deduction u/s 33 AB and 115 VT may be withdrawn and liable
to tax for the year in which business is discontinued.

D. The condition of section 80 IB / 80 IC of the Act, a deduction is allowed to
such undertaking

E. If a person has more than one business, the loss making business may not be
discontinued.

Choose the most appropriate answer from the options given below:

. A, Cand D only

.B. D and E only

.C.D and E only

A CandE only

Mg B fUHTH 1961 & Sfarid &2 glH a1 IRl e o1 ok & Ae §
JUged R Gl EfPe I Ao B 4 82

A, TS g1 IR TR-IHEd g/ & 3maiid foar o g Sik oy
T BIFT & WY GO ST S 9edar g

B. BT Sl 3R ATHRI $U=1l &1 B diY W $3- g U a1y faay
fopaT oI G g

C. a9y &5 frar orar & forg oy 8§ 39 99 & filw 33 AB SR 115VT YR &
Siafd Herd o1 a1y aray foran o Iadl & 39 &R O 5 o 9&dl o)

D.amaﬁﬂmso IB / S0IC X & ST UF SUsHH &1 Heldl Widd

E. U9 odfad & U9 U6 ¥ 3{f¥d o0a9ry ¢ df e1f 9if-id a9 &l &g el
a5 THar g

12 fdu 71T faoedl § 9 998 SUgad SR BT 99 DI :

S O

1.$aT A, B, C
2.9dd B, D, F
3.%add C,D.F
4. Pad A, C.E

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 91 / Question ID 908141

Marks: 2.00
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Interoperability guidelines for prepaid payment mstruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI. payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPT diversifies into cross- border
remittances, ntroduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to integrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The mfrastructure must
encourage fintechs to push innovation in finance, Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Ag per the passage. why do the payment banks need to carve out a distinct
business segment for themselves?

1. To be a part of the UPI ecosystem

2. Because payment banks are in competition with full service banks
3. Because payment banks are mandated to push innovation in finance
4. In order to entitle themselves for lending
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Interoperability guidelines for prepaid payment mstruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI. payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPT diversifies into cross- border
remittances, ntroduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to integrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The mfrastructure must
encourage fintechs to push innovation in finance, Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Given below are two statements:

Statement I : Initial UIP adoption has surpassed the most optimistic expectations
on account of the waiver of the merchant discount rate.

Statement IT: The future growth of the UPT will be facilitated by providing
solution for the conduct of business and to becoming a medium of commerce.

In the light of the above statements, choose the most appropriate answer from
the options given below:

. Both Statement Iand Statement IT are correct

. Both Statement I and Statement IT are mcorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement IT is correct.

o =
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Interoperability guidelines for prepaid payment mstruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI. payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPT diversifies into cross- border
remittances, ntroduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to integrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The mfrastructure must
encourage fintechs to push innovation in finance, Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Given below are two statements: One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A: Payment banks - which can accept deposits but are prohibited from
lending - need to be part of the UPI ecosystem.

Reason R: Loading fee on transactions through UPI, payment banks can widen
the adoption of wallets among customers and merchants.

In the light of the above statements, choose the correct answer from the options
given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is not false

. A is false but R is true

R R



Highlight


Ud &1 YA HI9EH & [0 gEiss UHew Sty (@ Ul 31%) & |1y Sft: v el 7rl
gele feforea arde &1 iR sfiF srgeie s 2 O o & @1 ¥ affd 3o W
TH-&F YA S& Ted! AR il & g e & Wierar ¥ TWR &) 96dl 81 98
eI g U1 15 31 Iaerial ST §HF W U Ol Ud § ° gal 86 d 79 9 ded
A R §F § SOl & A O &F & geral ol 4 oS & Ay ¥ dul ggd gu o
& & TR B W H TS TS & deR ul 3¢ o6 @l ¥ Y g 9 Huifa g
21 o @ & g YaHsal do- o o U ©ieR &Y 96l & W 96 B & B
e B 3 g 0 o seifien &1 Re 99 $1 siawed 21 9% U i saeiis
THIS g B AaWgEHl & fowe favid 3% quf a1 & &1 a1y fiea g

T a7 3s #1 AR A SR 59 R 3 & I OR § 9T o9 F R W
fafgefim< e, west B -4 Fiee F1E F mam 3 fags west = g it wo oty
& o1 w i SR = w1 Suam w it % yae | ofE erth g @ o @ e
T F Y THIHd o1 5T e Ty ged ud Ui 4441 F T § 90 W Rl
T o wiewn wef Weq Ideg ¥ g o & e ¥ seagn yfiw s s
Lol

oo faforea d9-a7 oF fafdn oik fse Miemsfim & fo snfafea g b o sieaesw
(e W) giewn e 21 omifire o fiewor smemardt sdemadt &1 R 2 @ afEe
oo Tl ge R # & 18 Fumdl & SR g 21 SR w01 H SR & & fag g o
TS FEIYTE &5 F1 &1 ST 58 S T #1303 9 oy &1 4t o b wam &
TNfAE S ST a1 T 91iUeg &1 I9E J1ey 89 &1 gard! et § e &1
Wifed Se orn fowd 9 & 49 ° JoRR 949 g U Sot &1 fofea d9-a & uy
e 95 99y 21 O% i €1 @ o &1 Aeayy foww 21 g O one famn 4w & o

T 58 O a9 GRiET sET B

4% @ 7u= fGu 70 € 1@ AfET (Assertion A) F o9 # ffEd § o TR S9% SR0
(Reason R)& 39 #

HFYT A: YAl 5, ol oH WIS H FHal & die B Tl § &al, B 39 g 9§
TS SHITGH @1 256 G o+ & Hawgedl 8l

HRO R: G 315 & A1H ¥ -3 R afifa Yo YaEsedl 8@ des! au il
di9 arde #1 Wiefd &1 981 gHd 51

Iqiad ®UE F HEE | A9 2 7 Beat # ¥ 95 30t @1 997 S

LA RR I T E SRR, A F1 v o @
. A SRR H 98 & SR R, A 1 5 o T 2
AT EEEIR TR
 ATAE AT R s
O 1
]
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3

O 4
4

R

Question No. 94 / Question ID 908143

Marks: 2.00




Interoperability guidelines for prepaid payment mstruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI. payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPT diversifies into cross- border
remittances, ntroduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to integrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The mfrastructure must
encourage fintechs to push innovation in finance, Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Contactless payments infrastructure, ag per the passage, will empower fintechs
for:

1. Interoperability with the UPI

2. Innovation in finance

3. Integration with the UPI ecosystem
4. Integration with the full service banks
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Interoperability guidelines for prepaid payment mstruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI. payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPT diversifies into cross- border
remittances, ntroduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to integrate with the digital rupee
that is undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the infrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The mfrastructure must
encourage fintechs to push innovation in finance, Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines plugs them
deeper.

Which of the following use cases are expected to promotes the growth of
payment basses?

A. UPI integration with the digital rupee

B. Dislocation of payment banks from digital transactions

C. UPI facilitation of cross-border remittances

D. Keeping a safe distance from the contactless payment infrastructure
E. Consumer lending through Rupay Credit Cards.

Choose the most appropriate answer from the operations given below:

. A B and C only
. C.D and E only
. A, Cand E only
.B. D and E only

B T
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The proposed facility similar to the Applications Supported by Blocked Amount
{ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPQ) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties. as well as the
kinds of transactions. involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
mvestors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an mmprovement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The Application Supported by Blocked Amount (ASBA) used in the passage
refers to which market.

. Primary Market

. Secondary Market
. Money Market

. Forex Market

de 2o =



Highlight


o T B Uy R oud daiia vl & I i

fadiios SRt # sciieer giids 915 siids e (€ oF ot U o vearfad gfaen # st
A Al B FgTd g vt I T S & dd U 9 o1 Aggl 99 § auie seR
# 7% 39 UeR &1 &3l ¢ f$ ga Have! & wn § es e ¢ ok sfdd sie o € 9
% HREF FaaHs Fa o @ o) F sl sfigr @ier &3 g1 s sort
& 00 Sue! STeAl (Wiash) S99 S Uali #1 99 $ HY-91Y §U9ER & SRl &
&R e wiea g1 faxios sor & fafdy sanyfodt & fog Sxiem aftd Seem & fam
framre fafim SramafiEt & ffte R F Fe 301 21 T ey & TS 79 5 o o7 o
=R F1 GHEY FXd gu T T ararexe ¥ vfagst & @y weel siiae it 21 aeie!
FAfET faandia g gt € g oo 78 5 9t 71 59 B0 § YR vyl wd fafm
¢ @) PRz & o T i VeE B3 5 v 2 el R A 21 ghees iven
SeThd (g 1 3T%) R 2 Wed ga &1 919 GR 9 gAmeieE S &1 gwmiaia #39 #
AT 9aH Sl ¢, forae garal & F1y FAeTE & o 9@l 21 9 die See &
ATt H, gl & 91y onf YE1 aTE 9 69 % geudn & &1 el ¢ oyl TRee ®) Aeal
AeaTaal % afee @l @ s9 gU 91 aR 0 gmTE &1 an O vefad s e 36 T
Fans! & Ues & Fy-a1y I vanfodl 1 Ry F Fams $ w0 d 1 B gl

TSt I Zoma B Ued WeE #1 & o gEmes et (Gente seiem) F i aes #am
B YR WSl $ HR0 T AHE TH F TR | GS ¢ Safis 56 aRmigeR o
RE BT 5HS $ WEU § 4N UG a5E el (aw % R govl i sifiea s mn
21 5US R Tl 3ok FF T8 91T wEie auR s st o9 & a1 |
TAEIE % fog vl # w9 F3 3 81 omdiTa yo-ge e w1 F R wie om am
ford TeTa wd ® S99 dy 59 gl Be &1 SR Us UeR &1 gUR 25T g
WEH ® Al & =9 § it el ® arHl B T s W) Wi fem o v 2

e H ugad e SUes S wde e (U U9 §1 ) 5 e § wefia 72

1. WHfAS TR
2. fedios s
3. Hal g
4, BHET SR
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 97 / Question ID 908148

Marks: 2.00




The proposed facility similar to the Applications Supported by Blocked Amount
{ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPQ) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties. as well as the
kinds of transactions. involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
mvestors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an mmprovement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The SEBI has acted on its regulatory remit of protecting investors cash and

. Securities

. Dividend Income

. Grievances of payment
. Public Deposits
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The proposed facility similar to the Applications Supported by Blocked Amount
{ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPQ) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties. as well as the
kinds of transactions. involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
mvestors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an mmprovement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The money used for trading is allowed to be transferred directly to clearing
corporation, through

. Escrow Arrangement
. Unified Payments Interface
. E-banking

. credit cards
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The proposed facility similar to the Applications Supported by Blocked Amount
{ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPQ) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties. as well as the
kinds of transactions. involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
mvestors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep mtermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an mmprovement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Which are reagons that make replication of ASBA for the secondary market
complicated:

A. Kinds of transactions

B. Presence of large number of brokers
C. Applicability of SEBI guideline

D. Number of Parties

E. Differing time horizon

Choose the most appropriate answer from the options given below:

. C.D and E only
. A B and C only
. A and D only
. B and C only

B B
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The proposed facility similar to the Applications Supported by Blocked Amount
{ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPQ) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties. as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA involves
escrow arrangements with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement, bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
mvestors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients' funds in the form of fixed deposit lien or mutual
fund units. This should keep itermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an mmprovement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Given below are two statements: One is labelled as Assertion A and the other 1s
labelled as Reason R -

Assertion A : SEBI has offered relief to brokerages that stand to lose float
mcome on account of upstreaming client money to clearing corporations.

Reason R: Brokerage have been allowed to upstream clients' fund in the form of
fixed deposit lien or mutual fund units.

In the light of the above statements, choose the correct answer from the options
given below

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A i true but R is false

. A is false but R is true
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